Bahawalpur Board-2024

' Chemistry m L K.No. 1465 Paper Code No. 8483
Paper | ( Objective Type) | Inter (1 “*-A-Exam 2024) @

Time  : 20 Minutes ~__Inter (Part-11) (Group Ist)
Marks : 17 ‘Session (2020 - 22) to (2022 - 24)

Note : Four choices A, B, C,D to each question are given. Which choice is correct fill that circle in
front of that Questlon No. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

. "_F

Q.No.1 | Reducing Smog contains high concentration of : | ]
(1) |(a) o3 (B) NO (C) SO2. @ (D) Hz0; e ]
(2) Peroxyacetylnitrate (PAN) is an irritant to human beings and it affects :
(A) Eyes @ (B) Ears (C) Stomach (D) Nose
(3) Which woody raw material is used for the manufacture of Paper Pu!p - N
(A) Cotton (B) Bagasse (€) POplar 5 (D) Rice Straw
(fi) | Which one of the following elements is s not present in all Proteins : - —
| (A) Carbon (B) Sulphur @ (C) Nitrogen (D) Hydrogen
| (5) | Which Acid is used in the manufacture of synthetic fibre : - i
| (A) Formic Acid (B) Oxalic Acid (C) Carbonic Acid (D) Acetic Acid @ |
(6) Cannizzaro’s reaction g not given by : - - ]
(A) Formaldehyde (B) Acetaldehyde (C) Benzaldehyde (D) Trimethyl Acetaldehyde
(7) | Which Enzyme is not involved in the Fermentation process : o
| (A) Diastase ({B)Zymase (C)Urease® (D) Invertase
T (8) | The removal of two atoms or groups from adjacent Carbon@s in the presence of a base is
| called :
| (A) Substitution Reaction (B) Elimination ea@
(C) Hydrolytic Reaction <%le:-.w:tu:m
_(9) - Aromatic Hydrocarbons are the derivativ o
' (A) Normal series of Paraffins (B) (C) Benzgne (D) Cyclohexane
(10) | Preparation of vegetable ghee In :
| (A) Halogenation (B Hy d ation (C) Hydroxylatlon (D) Dehydrogenatlon
F——(11—) Which Set of Hybrid o «B a$ Planar Triangular Shape : -
L) 5p° B)\s \ (C) sp@ (D) dsp’
(iZ) The Colouro s sition Metal Complexes is due YRR NN o - o -‘
| (A) d — d Transition of electrons @ (B) lonization
l (C) Paramagnetic nature of Transition Elements (D) Loss of s — electrons
| {13) | The Anhydride of HCIOg Is :
(A) ClO3 (B)ClO2 (C)Ci205 (D) ClhhO7 @
| (14) | TNT is formed by the reaction of Nitric Acid with :
(A) Phenol (BfToluene (C) Glycerol (D) Aniline
(15) | Which Metal is used in Thermite Process because of its activity :
(A) Iron (B) Copper (C) Aluminium (D) Zinc
(16) Chile Saltpetre has the Chemical Formula B -
(A) NaNO3 (B) KNO» (C)—NazB407 (D) NazC0O3 . H>0
| (17) |Beryllium Oxide is an example of : ® - -
(A) Acidic Oxide (B) Basic Oxide (C) Amphoterlc Oxlde (D) Peroxide
' - pakeity.org B
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Bahawalpur Board-2024

RoliNo. |1465- /O 00H “Inter Session (2020 - 22) to (2022~ 24) |
| (Part-m) | |
Ch;;nistryL B inter Group Ist | Time 2:40 Hours Marks : 68

(Subjective) |(W-A-Exam-202%d .~ .+

Note : It is compulsory to attempt any (8 — 8) Parts each from Q.No. 2, Q.No.3 and attempt any (6) Parts

trom Q.No.4. Attempt any (3) Questions from Part — ll. Write same Question No. and Its Part No. as
given in the Question Paper.

Make Diagram where necessary. m

n Q No.2 LGi\re the two points of ;imiiarity between Hydrogen and Alkali Metals. -

| (i) | Define Hydration Energy. Give the factors affecting it.

S —— =2 Eat e = T i R e e S =" s b e e R e e e e e e e g T i 2 = oy e

{iii) Write down two Characteristics of Lipids. | (iv) | How Is Lime Mortar prepared?

=

{v) | How the Chromate lons are converted into (vi) | Differentiate between Paramagnetic and
R __| Dichromate lons? Give the reaction involved. | Diamagnetic substances.
| (vil) | How Grignard Reagent is prepared? Whyisit (viii) | Give the two points of difference between
very reactiver : SN]. and SNZ reactions.
(ix) | How is Polyvinyl Chloride prepared? Give its two | (x) Why Is the Aqueous Solution of Na;CO3
B wes. | _|Alkalinein nature?
(xi) | Give the effect of temperature on Enzyme - (xii) Give the reactions taking place between
| activity. 1-7 days in setting of Cement. |
| Q.No.3 L(lf | Why'doeS Aqua Regia dissolve Gold and (ii) Write down comparlson ' of pro'p_er-t_i:s_ of
1 Platinum? L _ - Oxygen and Sulphur { any two).
. (iii) | What are Freons and Teflon? (iv) Name the Gas used for Earthquake Prediction.
(v) | What is the role of Homologous Series in Organic (vi) the he rates of O-Fganlc Reactions are slow?
Compounds ? L L
(vii) | How Methane is converted into HCHO in the | @“ Describe Markownikov ’s Rule for the Addition
presence of Catalyst {Cu) under high of HX to Alkene.
L Temperature and Pressure? 7 h* o
(ix) | Why Terminal Alkynes are acidic in naf "%‘3’9 : (x) | Whatls the role of CFCs in destroying Ozone
I _ example. layer? L L
(xi) | Define Dissolved Oxygen (D ﬁﬂ\) - uality of | (xii) | Describe Harmful effects of Chlorination of
L Water, Water.

—e = e —— e = - i —

2|
Q.No.4 | (i) | what happens when or _-" heated with H3S04?
(M | How does Alum N eacts with H2S0a and N ?

| ()_| What s Ashestok? Give its uses.

(iv) | Whati "5 Fittig Reaction?
(v) | Wri ‘i‘,h tructural Formula and names of two Hydroxy Acids. ' |

- (Tri)- How will you prepare re Ethanol from Starch? '

(vii) What is Canizaro’s Reaction? Give one example

—— e e T . S - = = s

(Vi) | How a = Hydroxy Carboxylic Acid are prepared from Amino Acid?

e ————— — - — i e e —

' (ix) | Write reaction ‘of Ethyne with Water for formation of Acetic Acid.

Q.No.5 [(a) * (4)

Justify the Position of Hydrogen with group | = A elements.
Lithium shows pealliar behaviour. Mention any eingt points. - (4)
W‘ {(a) | Explain Peculiar behaviour of Flourine e differ from mgens. S ) |
md their importance witmmmonium Phosphate? (4)
| Q.No.7 [(a) | pefine sp H Define sp Hybridization, Discuss it with a suitable example along with labelled diagram. (4)
o | (_5)“ How can_you Prepare the following from Ethyl Chloride : -
(i) Propane Nitrile (ii) n— Butane (iii) Tetraethyl Lead (iv) Ethane H
Q.No.8 | (a) | Why Acetylene and Terminal Alkynes give acidic behaviour ? Gm o (4)
(b) | How Acetaldehyde reacts with : - - S (4)
| | (i) HNOH  (ii) HaN—=NH; (iii) 2,4- DNPH (iv) Phenyl Hydrazine. |
Q.No.8 | (a) | Give detail mechanism for the pr preparation of Acetophenone through Friedel Crafts A;y_l-a-tron o (4) |
reaction.
MW can it be dlstmgunshed from Ethyl Alcohol? | (4)
Lt et Tt
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Bahawalpur Board-2024 |
(_Objective Type )

Paper |l Inter ( Ist - A - Exam: 2024 ) B i
Time 20 Minutes Inter ( Part - 11) ( Group 2nd)

et - ez

17 Session (2020 - 22) to (2022 - 24)

Note : Four choices A,B,C,D to each question are given. Which choice Is correct fill that circle in
front of that Questlon’ No. on the Objective Bubble Sheet. Use Markar or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

. A — — —
e e —— ey = e S M A

Q.No.1 | Chile Saltpetre has the Chemical Formula :
(1) (A) NaNO3  (B) KNO3 (C) Na,B;0; (D) Na,CO;3.H,0
(2) | Which element forms an lon with charge +3 :
(A) Beryllium (B’Alumlnium (C) Carbon _SD) Silicon
1-(-3) Anhydride of HCIO_.; I; -
(A)ClO3; (B) CIO, (C) CI,05 (D) ClLO; @
(4) | Which of the following is a Typical Transition Metal :
(A) Sc¢  (B) Y (C) Ra (D) C9 &y
(5) | A Double Bond consists of :

h

————r — = e i 2ES

(A) Two Sigma Bonds (B) One Sigma and One Pi Bond @
(C) One Sigma and Two PiBonds (D) Two Pi Bonds
(6) | Which one of the following Gases is used for Artificial Ripening of Fruits : N

(APEthene (B) Ethyne (C) Methane (D) Propane

(7) The Conversion of n — Hexane into Benzene by heating « Presence of Pt is called :
(A) Isomerization (B) Rearrangement (C) De Alkylation, (D) Aromatization B

Elements of the Periodic Table are classified intc I: -]
(A) Four@® (B) Three (C) Five (D) Six |

7\

(9) | Sulphuric Acid acts as a Dehydrating agent In'reaction with : |
(A) Formic Acid® (B) Zinc (C) _‘Q«fb (D) Sodium Hydroxide '

g

(10) The removal of two atoms or gréfips from adjacent Carbon atoms in the presence of a base is
called :
(A) Substitution Reacti O (B) Elimination Reaction @
(C) Hydrolytic Rea (D) Decomposition Reaction

o e

rhas apHof :

(11) | Unpolluted Rai
(A) 4.9u 4 .6@ (C)5.3 (D)7.0

Newspaper can be recycled again and again by how many times :
A) 2 (B) 3 () 4 (D5@
(13) The Enzyme not involved in Fermentation of Starch :
____|(A) Diastase (B) Zymase (CJ Urease (D) Invertase
(14) | Cannizzaro’s reaction is not given by:

(A) Formaldehyde (B) Acetaldehyde (C) Benzal‘dehyde (D) Triethyi Acetaldehyde |
L 3 e ——————— -
(15) | Which reagent is used to reduce a Carboxylic group to an Alcohol :

(A)H/Ni  (B) Hp/ Pt (C)NaBH; (D) LiAIH, @
-

(16) | Which one of the following Enzymes brings about the Hydrolysis of Fats :
(A) Urease (B) Maltase (C) Zymase (D) Lipase @

e e === T e

(17) | Phosphorus helps the growth of : - e —
(A) Roots (B) Leave () Stem (D) Seed @

o% pa kcit@}“ I
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Bahawalpur Board-2024
RollNo. Inter (Part - i)

Time 2:40 I-iours Marks
Cherillsti'y Inter
(Subjective ) (Ist - A - Exam - 2024 )

e e TR

e

]

(Group 2nd)

Note : It is compulsory to attempt any (8 — 8) Parts each from Q.No. 2, Q.No.3 and attempt any (6) Parts |
from Q.No.4. Attempt any (3) Questions from Part — ll. Write same Question No. and its Part No. as
given in the Question Paper.

Make Diagram where necessary.

Q.No.2 (i) The Oxidation State State vary ina period but remain almost constant in a group. Write reason briefly. -

-m Define Shielding Effect.
m Why is 2% Gypsum added in the Cement? m BeO is Amphoteric . Prove it.

What is Chromyl Chioride test
Why Fe shows maximum Paramagnetic ﬂ Gicete;uatli.gn also. © ¢

behaviour among first Transition Series?
vili

What is Wurtz Synthesis ? Give equation also. How Propanoic Acid s prepared from Ethy!

Magnesium Bromide ? Give equation.

_m Define lodine Numher. (x) | Differentiate between Ligases and Lyases.

-m Write down any two importance of Proteins. (xii) | Why Phosphatic Fertilizers are provided to

nlants? .
Q.No.3 | (i) | Complete and balance the following Chemical ﬂ P205 is a powerful Dehydrating Agent.

equations : Prove it giving example.

(a) P+NO —7? (b) NO+Cly—>? .
(iii) | Arrange the following ions in order of W at is “ lodized Sait

increasing size : F ,Cl, I ,Br, B

What is the Composition of Natural Gas WWM there is no free Rotation around a

Give its use. ( ~€arbon — Carbon double bond?

Why Ethene is more reactive than Ethane [@)‘ How to Prepare good quality Polythene
Convert: Propyne — Acetone. A\ P (%) | What is Oxidizing Smog?

What are the Harmful effects of Chlorination

of water?

Q.No.4

| (ii) | Give names alongwith th A‘"‘“ as of three important ores of Aluminium.
(i) | Describe Four import nt os of Silicates. -

What is the differe etween Ortho — Para and Meta Directing Groups in the Mono- Substituted
Benzene Ring A

quﬁ ence between Rectified Spirit and Absolute Alcohol?
m Write IIRACnames of the following Compounds :

==

(a) (CH3)3 COH (b) (CH3)2 CHCH,OH .
-m Give General Mechanism of the Acid Catalyzed Nucleophilic Addition Reaction of Aldehydes and
Ketones.

-m What are Peptides ? How are Dipeptides formed?
| (ix) | What happens when Calcium Acetate Is Heated?

& pakcity.org§

Wm Mention four points of similarity of Hydrogen each with Alkali Metals and Halogens. | 2+2=4
| (b) | Describe with labelled diagram the manufacture of Sodium Hydroxide by Diaphragm Cell.

'Q.No.6 | (a) | What s Bleaching Powder? How can it be prepared by Beckmann’s method?
| (b) | How Urea is manufactured? Give the reactions involved.

Q.No.7 | (a) | What is Cracking of Petroleum and discuss its different types?
| (b) |Explain Syl Reaction with Complete Mechanism.

“ Explain the MarkowniKov ’s Rule with reaction mechanism. (1+3)=
What is Aldol Condensation ? Why Acetaldehyde give this reaction ? Justify your
answer with mechanism. (1+3)=

T,
P

in_o.g Wri_te down the mechanism of : (i) Friedel Craft Alkylation (ii) Friedel Craft Acylation
How Lucas Test is used to identify Primary, Secondary and Tertiary Alcohol?

Please visit for more data at: www.pakcity.org
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CHEMISTRY

NOTE: | You have four cholce§ for each objective type question as A, B, C and D . The choice which you
think is cotrect, fill that circle in front of that question number. Use marker or pen to fill the

PAPER CODE —-8485 DG Khan Board-2024
12" cLass - 1%t Annual 2024

0 AR

OBJECTIVE

‘TIME : 20-MINUTES

'MARKS :17

circles. Cutting or filling two or more circles will result in zero marks in that question.

UEST ION NO. 1

1

4

10

11

12

13

14

15

16

17

| (A) Aceticacid  (B) Propanoic ac

Planar triangular shape is associated with which set of hybrid orbitals
(A) sp’ B)sp  (C) sp’@ (D) dsp’

Formula of chloroform is

(A) CHsCl  (B) CCl, (C)CH,C);, (D) CHC @

During nitration of benzene, the active nitrating agent is

(A) NO3 (8) NO; (C) NO,@ (D) HNO;

When Ethanol (CH; — CH, — OH) is made to react with ethlenaéﬁésiym bromide the product
formed is

(AJCH;,  (B) CHy;=CH, (C)CH, (D) CH3;—CH,®
Which compound is called a universal solvent ?

(A) H,0® (B) CH3;OH- (C) C,HsOH (D) CH3— O~ CH;

One of the following compounds will react with T Ifep

. qe 0 . | I

(A) CH;-C~-H (B) CH3—C-CH; (C)% =0OH (D) CH3~C~CH;—CHj;

One of the following is not a fatty acid % :2
Butaneic acid (D) Phthalic acid ®

Which one of the-following en ng@»rings @\Tghydro_lysis of fats ?

(A) Urease (B) Ma (C) Lipase @ (D) Zym¥se-
Which is not a calcari terial ? i)

(A) Lime Clay @ (Cll\l{larble (D) Marine Shell
Disinfection of chlorine is

(A) Inexpensive (B) Expensive (/\r(C)\Rapid. (D) Slow

Ecosystem is a smaller unit of Jla /

(A) Lithosphere (B) Hydrosphere C) Atmosphere (D) Biosphere @
Select the two normal elements\a esent in Fifth period

(A)Rb, Sr @ (B) Cs, Ba (EY*r, Ra (D) La, Hf

The mineral (CaS0, . 2H,0) heral name

(A) Gypsumg@  (B) Dolomite (C) Calcite (D) Epsom salt

One of the element forms an ion with charge 3+

(A) Beryllium (B) Aluminium @ (C) Carbon (D) Silicon

Choose the gas which is obtained by the reaction of Formic acid with conc: H,S0,
(A) CoH; (B) CiH,q - (C) CO@ (D) CO

One of the halogen occurs naturally in a positive oxidation state g@ pa kcity,oago
(A) Fluorine (B) Chlorine  (C) lodine® (D) Bromine S—

Group VI ~-B of transition elements contains

(A)Zn, Cd, Hg (8) Cr, Mo, W® (C) Fe,Ru,0s (D) Mn, Te, Re

18 - (Obj) —1" Annual 2024 SEQUENCE-3 ( PAPER CODE — 8485)
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12" CLASS - 1% Annual 2024 DG Khan Board-2024
CHEMISTRY LY MMIM WINI [ TiME: 2 HRS 40 MINUTES

GROUP:FIRST |sg&y  SUBJECTIVE PART MARKS: 68
o, SECTION — |

QUESTION NO. 2 Write short answers any Eight (8) of the following 16

Why alkali metals are very reactive ?

What are the s —block elements and why are they called so ?
‘How do transition elements display colours ?

K,CrOs and K,Cr,O7 show similar properties. Justify this.

How does brown pulp converted into white pulp in paper industry ? e
Give formula of (i) Dolomite (ii) Natron Pd kcnty.org

What will happen when Lithium Hydride is treated with water.
Starting from (primary) alkyl halide prepare ethylamine

How the molecular mass of polymer is determined ?

What is starch ? Write its two uses.
“What are lipids ? What is their importance ?

How Grignard reagent react with CH3CHO ? |

QUESTION NO. 3 Write short answers any Eight (8) of the following 16
Why is 503 dissolved in H,504 and not in H,0 ?

Write down any four uses of HNO;

What are Freons and Teflon ? .

Write down any four applications of noble gases.

What are alicyclic compounds ? Give its two examples.

Define knocking. How does it improve ?¢

How formaldehyde is prepared from ethene ?

|
How acetylene is prepared on industrial scale ? @@

Why alkanes are less reactive ?
Differentiate between oxidizing and reducing smog.
How chlorofluorocarbons destroy ozone ? %

What is dissolved oxygen ?
QUESTION NO. 4 Write short an answers an

What is the Chemistry of Borax — bead @

Write down any two uses of Aluminit @
Why are liquid silicones preferr rdinary organic lubricants ¢

What are the major product mlnatlon of the following compounds?
(a) Toluene (b) Benzal

Ethanol gives differen cts with conc H,50,; under different conditions , give reactions.
Write IUPAC names following compounds.

(a) (CH3), CH—-OH (b) (CHjz); CH CH; OH
Why formaldehyde does. not give aldol condensation reaction ¢
What is internal salt of amino acids ?

Write down the reaction of acetic acid with ammonia and its product on heating.
SECTION-II

Note: Attempt any Three questlons from this section 8x3=24

Q.5.(A) | Discuss the posmon of hydrogen in a periodic table with v A group ‘elements.
(B) | Howis sodium prepared ‘commercially by Down'’s Cell ?
o — __....

Q.6.(A) | Write down four uses of Chlorine in daily life.

Explain preparation of urea fertilizer on large scale.

of the following | | 12

AL 2o T S o - S

"Define atomic prbitaT hybridization. Explain sp hybridization with formation of ethyne.

hExplain the mechanism_of SN, reéctioﬁs:

How will you prepare from ethyne.

(i) Acetaldehyde (ii) Oxalic acid (iii) Benzene (iv) chloroprene
How will you prepare from Acetaldehyde (i) Lacticacid (ii) Acetal

Discuss the mtratlon of benzene with reaction mechanism. '

"How will you identify 1 — propanol , 2 — propanol and 2-— methyl -2 — pFopanol ?
.Iustlfy the answer with chemical test.

18 - (Sub) — 1** Annual 2024
Please visit for more data at. www-.pakcity.org




‘Group-sfcoND | DG Khan Board-2024  [MARKS:17

-

o — e —

"OBJECTIVE I
B e —
NOTE: You have four choices for each objective type question as £ B,CandD. ". The choice which you
"‘if,}f think is correct, fill that circle in front of that question number Use marker or pen to fill the
Siec? circles. Cutting or filling two or more circles will result in zero marks in that question.

QUESTION NO. 1 B )

1

10

11
12
13

14

16

17

Which of the followmg is not a fatty acid ?
(A) Propanoic acid (B) Acetic acid (C) Phthalicacid® (D) Butanoic acid
A polymeric substance that is formed in a liquid state and then hardened to a rigid solid is called a

(A) Fibre (B) Plastic @ (C) Varnish (D) Polyamide resins
Which is not a calcarious material ? pakcity_org
| (C) Marble (D} Marine shell |

(A) Lime (B) Clay @
The main pollutant of leather tanneries in the waste water is due to the salt of

(A) Lead (B) Chromium (VI) @  (C) Copper (D) Chromium (lil)
The capacity of organic matter in natural water to consume oxygen within a period of five

cays is called

(A) DO (B) BOD @ (C) COD (D) PAN
Coinage metals are
(A) Ni,Pd, Pt (B) Cu,Ag,Au® (C) As, Al, Pd (D) Fe, Si, Sn

Which clement is deposited at cathode during the electrolysis of brine in diaphragm cell ?

o S

The chief ore of Aluminium s

(A) Na; AlFg (B) ALO;.2H,0 @ (C) @o (D) ALO;. H,0

o
Nitrous acid reacts with aminobenzene top
| (A) Urea (B) Phenol@ (D) NH;

Which of the following repr csnnls@ rrect electronic configuration of the outermost energy
up in the ground state ?

5°p (D) s°p° @

level of an element of zero (VI

(A)s’p®  (B) sp’
Coordination numb Fin [Pt Cl (NO,) (NH3)4] 1S

(A) 2 (B) 4 C) 1 (D)6 @

Select from the fdi!owing the one which is alcohol

(A)CH;—CH,~OH @  (B) CH;— 0O~ CH; (C) CH, COOH (D) CH;—CH, —Br

The formula of chloroform is

(A) CH;Cl  (B) CCl, (C) CH,CI, (D) CHCl; @

During nitration of benzenc , the active nitrating agent is

(AYNO,  (B) NO;® (C}) NO; (D) HNO;

Which reagent does not produce ethane by reacting with ethyl magnesium chloride in the
presence ot dry ether ?/

(A)H,0  (B) NHy  (C)HCHO @ (D) C,HsOH

Which compound will have maximum repulsion with water ?

(A) C:H; @ (B) C,H,OH (C) CH;0CH; (D) CH;CH,OH

Which of the fiollowing reagents will react with both aldehydes and ketones ?

(A) Grignard reagent® (B) Fehling’s reagent  (C) Benedict’s reagent (D) Tollen’s reagent

il UL R et e e

127 UG - B Al 70724 SEQUEMCE -4 [ PAPER CODE - 8488)
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12" CLASS - 1% Annual 2024 DG Khan Board-2024

CHEMISTRY WLl L] TIME: 2 HRS 40 MINUTES
GROUP : SECOND SUBJE(.TIVE PART MARKS: 68
| SECTION — | — —
QUESTION NO. 2 Write short answers any Eight (8) of the following 16

T - T =c i g, TS g i

Why diamond is a non — conductor but graphite is a fairly good conductor ?
Define ionization energy. How does it vary in the periodic table ? |
ili | Why 2% gypsum is added to Cement ? ‘
iv | Give the formula of (i) Asbestos (ii) Soapstone (Talc)

| v | How does the process of galvanizing or Zinc Coating protect the iron from rusting ?

| vi | How is the chromate ions converted into dichromate ions. Give the reaction involved.
vii | Give the two factors which govern the reactivity of alkyl halides.

. viii | How propanoic acid is prepared from Ethyl magnesium Bromide ?
ix | What are thermoplastic polymers. Give two examples. P akC|ty org

x | Define polysaccharides. Give two examples
xi | How the proteins are denatured ?

__xii_| Define lignin. Why is it removed from pulp ? L
QUESTION NO. 3 Write short answers any Eight (8) of the following

b Why the elements of ¢ Group 'VIA other than oxygen shows more than two oxidation states ?
ii | What is meant by Fuming Nitric acid ? '
- iii | Arrange F,Cl, |, Br in order of decreasing size. |
iv | Name the Halogen used in water treatment. F
' Draw flow sheet diagram for the formation of Anthracite. |
Differentiate between petroleum and crude oil.

How will you synthesize Acetaldehyde from C,H,? @
Compare the reactivity of ethane and ethene. <g
Describe polymerization of ethene. @

Define Biochemical Oxygen Demand (BOD) for th@@f water.

Vv

Describe how pesticides are dangerous to humal?
Describe Reprocessing for the Recycling of Plastics

‘ —— —— S— -

QUESTION NO. 4 Write short answers .q)\“ (6) of the following 12

L

I i | What are semiconductors and name gletfients and compounds act as semiconductors ?
it | Give four uses of Boric Acid. O@

fii Justlfv that Boric Acid is mo Acid.

| iv | What objections were rai n Kekule’s structure for benzene molecule ?
v | How phenol is conv into Bakelite ?

vi | How Picric Acid is obtained from phenol ?
vii | What is Silver Mirror Test 7

viii | How would you convert acetic acid into acetic anhydride ? |
i Discuss strecker synthesis for the preparation of amino acid.

SECTION-1I
Note' Attempt any Three questions from this section 8 X3 =24

] Q 5 (A) | What are hydrldes ? Name their types Give propert:es of ionic hydndes 1+1+2j

(B) | What are general trends of oxides and hydroxldes of alkali and alkaline earth metals ? 2% |

Q.6.(A) | What happens when bleaching powder reacts with 141...14,1—!

(i) HCI (ii) NH3 (iii) H,SO, (Excess) (iv) CO, |

(B) | Describe screening and bleaching steps in Neutral sulphite semi chemical process. 1+3 |
Q.7.(A) | Define sp” hybridization. Discuss it with a suitable example along with labeled diagram. 1+1+2

(B) | Define nucleophilic substitution reaction. Explain SN, mechanism in detail.

o — A —— S S —

_dTa.(A) Discuss oxidation reactions of alkynes. (any two)

(B) | Describe disproportionation reaction in benzaldehyde , when it is treated with aqueous solution of h
50 % NaOH at room temperature. o

Q.g.(A) Give preparatlon n of benzene with any four methods.

(B) “Give reactions for the preparation of phenyl acetate, benzene cyclohexanol and picric acid
from phenol.
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S#H| __ Questons [ A [ B |
, WI‘IICI1 acnd.can be used as a catalyst in Friedel- HNO, BeCY, |
Crafts reactions? ) ~
5 The presence of a double bond in a compound is Saturation o T— n.
| the sign of: - ] B S _
3 Wthh set of hy?rld orbitals has planar sp? ® sp* r é | dsp?
triangular shape: | ]
The colour of transition metal complexes is due Varmnagngiie - ' Loss of d'd ®
4 | nature of Ionization transition of
to: S-electron
i L - element | I electrons
Bleaching powder may be produced by passing Calcium £y dr'ated Calcium ® Magnesium
5 . I !calcwm ; .
chlorine over: carbonate hydroxide hydroxide
- B o _ _ AP\ “sulphate ]
Nitric oxide forms a brown coloured addition @‘ =
6 | compound with FeSO,. This test is used to | Carbghate Phosphates Nitrates Sulphates
confirm the presence of: O, \‘
S _ — SVl B e
7 | Which element forms an ion with charge +3 : l ([<7Beryllium Aluminum® Carbon Silicon
) T Wi N o ey __VM‘ - ] i B
" Wthh lon will have the maximum valye gftheat Na* Ot Ba*2 Mg @
of hydration? P
-_— AT — o e
9 | Sodium reacts with excess o “M Sub oxide | Normal oxide Peroxide Super oxide
- AN T e | - o @
10 | The pH range of the agid-rain is: - 7-065- | . 6.5-6 6-5.6 Less than 5
i purii‘ncati&?of potgle water the coagulant - | - Nickel Copper Barium |
11 i Alum@
usedis: o ) sulphate sulphate ~ sulphate _
12 | Phosphorous helps in the growth of: Root Leaves Stem ' Seed @
- ]
13 | Which polymer is an addition polymer? Nylon-6,6 Polystyre?e Terylene | Epoxy resin
R — __._l.____.____.—
14 | veue _acud 5 vsod in the mamniacturing of Formic acid | Oxalic acid | Carbonic acid | Acetic acig
| synthetic fiber?
| 15 | Which will have the highest boiling point? | Mathanal Ethanal Propanal 2-I—Iexanong
16 | Which compound shows hydrogen bonding? C,Hs;OH ® C,H, C,HC¢ CH,-O-CH,
] - — ‘ e ] S R —
17 l :h(;r ;2111111:!1 mechanism, the first step involved is E1 and E2 E2and Sx2 | Snl and E2 ' E1 and S|
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Intermediate Part Second Roll No.

CHEMISTRY  (Subjective) GROUP -1
. Ti:40 Hours |

SECTION -1
2. Write short answers to any EIGHT parts. - 16
(1)  Give two chemical reactions of ZnO which prove its amphoteric character. : r
(11)  Alkali metals give ionic hydrides. Give justification for the statement. paKCIty.o g

(1)  What happens when gypsum is strongly heated?
(1v) What is lime mortar?
(v) Whydo K,CrO4and K,CrO5show similar properties in aqueous solution?

(vi) Transition elements show variable oxidation state. Give reason.
(vit) What is 3-elimination reaction? Give one example.

(viit) How would you prepare n-butane and ethane from ethyl chloride?
(1x) What is thermoplastic polymer? Give two examples.

(x) What is denaturation of proteins? Give one example.

(x1) Mention two points of difference between DNA and RNA.

(x11) What is requirement for a compound to be used as a fertilizer?

3. Write short answers to any EIGHT parts. 16
(1)  Define the “Ring Test” for the confirmation of the presence of nitrate ions in the solution.
(1)  Why is SO;dissolved in H,SO, and not in water?

(it1)) Write four uses of bleaching powder.
(iv) Why HF is weaker acid than HCZ ?

(v) Define functional group. Give the functional group of ether and lic acid.
(vi) Define Tauto merism. Give an example. @

(vit) How is ethyne prepared on industrial scale?

(viir) How 1s Raney Nickel prepared? Give its one use. A %ﬁo
(ix) Convert ethene into ethyl alcohol.

(x) How 1s ozone damaged in stratosphere by chlc rocarbons (CFCs)?
(x1) Differentiate between primary and seconds “& i

(x11) How does acid rain affect environmen@

4. Write short answers to any SIX pafgtso 12
(1) What are silicates? How sodif cate 1s prepared?
(1)  What is boric acid? Howdtisprepared in laboratory?
(111)  Why are liquid silicong e erred over ordinary organic lubricants?
(iv)  Why nitration of toluene is faster than benzene?
(v) How will you distinguish between methanol and ethanol?
(vi) Describe the term esterification using ethyl alcohol as an example.
(vii) How will you distinguish between acetone and ethyl alcohol?
(viii) How would you convert acetic acid into acetamide?
(ix) What is peptide bond? Write the formula of a dipeptide.
' SECTION —-11 Attempt any THREE questions. Each question carries 08 marks. ’
5. (a) What are metals? Give their properties with examples. 01,03
(b)What are two major problems in diaphragm cell? How they are solved? 02,02
6. (a) What is disproportionation reaction? Explain reactions of chlorine with cold and hot NaOH. 01,03
(b)Describe digestion and pulp washing in neutral sulphite semi-chemical process. 02,02
7. (a) Explain the reforming of petroleum with suitable example. 04
(b)Differentiate between E; and E, reactions mechanism. 04
8. (a)How can you prepare the following from ethyne:
(1) Acetaldehyde (ii) Vinyl acetylene (ii1) Glyoxal (iv) Acetonitrile 01,01,01,01
(b)How ethanal can react with following:
(1) HCN (i) NaHSO; (iii) I2./-NaOH (iv) NaBH4 01,01,01,01
9. (a) What is resonance and discuss structure of benzene by resonance method? 04
(b)Explain following terms using ethyl alcohol as an example:
(1) Esterification (ii) Ether formation (iii) Oxidation (iv) Dehydration 04
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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Q.No.! relevant circle in front of that qucstion number on computerized answer sheet, Use marker or pen (o fill the (EI.I‘FIC_S.

777 Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.

SH Questions B C D
ry* ® ° L . ° - +
I | The electrophile in aromatic sulphonation is: H,S04 50; @ SO;
When cyanogen chloride (Cf: CN) is made to
2 | react with ethyl magnesium bromide the CH; ~CN  |CH;~CH, —CN | CH; -CH, ~Ctl,-CN| CH, = CH - CN
| product formed is: -
Wil o . 8
. W\ lnch‘ Lomy?ound will have the maximum CcH, ® | C,H;OH | CH,CH,CH,-OH | Clly-0-Cli,
repulsion with water?
i 63
4 | It will have the highest boiling point: Mathanal Ethanal

5 Which reagent is us;:d to reduce a carboxylic H, / Ni H, /Pt NaBH,
group to an alcohol’ e
ve—— - “L;
6 | Nitrogencous bases is not present in RNA: Cyt s@ Adenine Thiamine @ Uracil
7 | Phosphorus helps the growth of: ot Leave
| a1 C
Methane has a mean residence time in /5 \\
—_ 4 -7 ye:
] . atmosphere about: @ . “o YOS
9 Newspaper can be recycled i@
: * 2
how many times?

N v
» | (alery ;
vOo normal\elements are present in |

seventh period:

11 | It does not belong to alkaline earth metals: -

| The chief ore of aluminum is: Na;ACF, | Al,0;-2H,0

Birkeland-Eyde process used for the preparation HNO; @

of: o
14 The anh}’dride Of HC£04 iS: CCO3
15 | It is a typical transition metal: Sc

l; Linear shape is associated with which set of 0 ®
hybrid orbitals? F

17 | Synthetic rubber is made by polymerization of: | Chloroform Acetylene

1214-X11124-5000

Divinyl
acetylene

Chloroprene
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Time: 02:40 Hours Marks: 68 Faisalabad Board-2024
SECTION — 1

Write short answers to any EIGHT parts.

fl.., . o W 2 ¢ g . . e
m What is the difference between acidic and basic oxides? Give onz exampls of 2ach.

() Carbon and hydrogen possess reducing propertics. Show with equations.

() Decomposition of lithium nitrate gives different products than the nitrates of other aleali metals. Wny”
Give reaction,

(V) Give brief description of alkali and alkaline earth metal sulphates solubility in waiar. akcity or
(V) How is K:CrO: converted into KaCr,0:? Show with reaction. P 019
(M) How is chromy! chloride obtained from potassium dichromate? Give raaction. T
(V1) How is ethene prepared by E; elimination reaction?

(?'iii) Give reaction for the preparation of 1-Butano! from Grignard reagerit.

(1N) - What is the difference between isomerases and ligases?

(\)  Give reaction for the formation of soap from triglyceride.

(\1)  Give brief description of the rancidity of fats.

(Ni1) - Give names of the nitrogeneous fertilizers.

. Write short answers to any EIGHT parts.

(1) How does PC(; react with water?

(1) Write names and formulas of any two sulphide ores of Sulphur.
(1) Give chemical reactions of H,SO; with NaC/ and NaBr.

(1v)  What is available chlorine?

(V) Define isomerism. Write two isomers of butane.

(Vi) Hlow was coal formed from wood under the Earth?

(Vi) Write common name and structural formula of 1-methyl pr g

(viti) What is incomplete oxidation of CH;?

(1x)  Give structural formulac of the compounds: (i) P@ﬂ@maleate (11) Discdiurn suciinzgte
(\)  How is mustard gas prepared from ethene?

A\
(x1)  What are primary pollutants? Give two exa @)
(x11) What is leachate?

4. Write short answers to any SIX pa @

(1) How is H;BO;prepared from. (\({)Borax  (ii) Colemanite
(11)  Write four uses of borax,
(111)  Why are the liquid sili

\

preferred over the ordinary organic lubricznts?
(iv) How is ethyl ben reépared by Wurtz-Fitting reaction?

(v)  How are the phenols prepared by Dow’s method?

(vi) Describe the term esterification using ethyl alcohol as an example.

(vii) Define silver mirror test. Give the reaction involved.

(vili) How is acetic acid converted into (i) Methane  (i1) Acetic anhvdrids
(ix) What is Zwitter ion? Give its structural formula.

| SECTION —1II _ Attempt any THREE questions. Ezch question czrries 07 marcs ]

. (a)Discuss position of hydrogen at the top of IA group. Give similarities and dissimilzritizs,
(b)Describe the manufacture of NaOH by diaphragm cell.

. (a) What are disproportionation reaction? How does NaOH react with C/; in hot and cold sizt2” (51 5%
(b)What is meant by setting of cement? Explain the reaction taking place in first 24 hours of seuting
of cement. (41 1
. (a)Write notes on: (1) Catalytic cracking (ii) Steam cracking f

(b)What do you understand by the term B-elimination reaction? Explain E-1 mechanizm in dazzil

. (a)How will you synthesize the following compounds starting from ethyne?

(1) Acrylonitrile (ii) Acetaldehyde (iii) Glvoxal (iv) Methyl nitrile (5.
(b)What is Cannizzaro’s reaction? Describe its mechanism and prepare methznol and formic z2id 7
this reaction. v
. (a)Discuss atomic orbital treatment of benzene in detail. 54
(b)Describe two reactions of each in which C-O and O-H bonds of alcohol are broken. 2,02

1214-X11124-5000
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result m zero mark in that question. :
. o . akcity.or %o
1. 1.  The main pollutant of leather tanneries in the waste water is due to salt of C’% P ty g

(A) Lead (B) Chromium (V) ®  (C) Copper (D) Chromium (IT1)
2. One of the following will have the highest boiling point

(A) methanal (B) ethanal (C) propanal (D) 2 — hexanone @
3. The normal amount of overhead Ozone is about

(A) 150 DU (B) 250 DU (C)350DU @ (D) 450 DU
4.  Ethanol can be converted into ethanoic acid by

(A) Hydrogenation (B) Hydration (C) Oxidatioh @ (D) Fermentation
5.  Phosphorus helps the growth of

(A) root (B) leaf (C) stem (D) seed @

|
6. When ethanal (CH; ~C~H) is made to react with ethyl esium Bromide followed by acid

hydrolysis, the product formed is
(A) 1-propanol (B) 2—propanol A C) I-butanol (D) 2—-butanol @
7. Which one of the following elements is@%resenft in all proteins?

(A) Sulphur @ (B) Car /" (C) Hydrogen (D) Nitrogen
8.  The anhydride of HCLOy is @ /
(A) C1O; o, /' (C) ChO: (D) CLO; ®
9.  Which reagent 1s reduce a Carboxylic group to an alcoﬁgl?

(A) H,/Ni (B) H, /Pt (C) NaBH,4 (D) LiAfH, @
10.  Inring test, the colour of FeSO4- NO i

(A) Brown @ (B) Red (C) Green (D) Black
[1.  The conversion of n-hexane into bghzene by heating in the presence of Pt is called

(A) Isomerization (B) Aromatization @ (C) de-alkylation (D) Re-arrangement
12.  The chief ore of aluminium is

(A) NazAlFg (B) Al,O;3-2H,0@® (C) A0 (D) AlLO;-H,0
13. B-P’-dichloroethyl sulphide4s commonly known as

(A) Laughing gas (13) Bio-gas (C) Mustard gas @ (D) Phosgene gas
14.  One of the following is nb6t an alkali metal

(A) Francium (B) Caesium (C) Rubidium (D) Radium @
15.  The state of hybridizayion of Carbon atom in Methane is

(A)sp’ @ (B) sp’ (C) sp (D) dsp’
16. Select the two elemgnts which are present in third period

(A) L1, Be (B) Na, Mg @ (OK,Ca (D) Rb, Sr
17.  One of the following is a typical transition metal

(A) Sc B)Y (C)Co® (D) Ra

317-(I1)-1°'A 424-30000
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JEMISTRY Intermediate Part-I1 , Class 12" (1%'A 424) Paper: 11 Group -1
Time: 2:40 Hours SUBJECTIVE Marks: 68

Note: Section I is compulsory. Attempt any THREE (3) questions from Section Il
SECTION —1I
2. Write short answers to any EIGHT questions. (2 x8=16)

. Why the ionic radii of negative ions are larger than the size of their parent atoms? Give example.

ii.  Give two defects in Mendeleev’s periodic table. —
iii.  Why transition elements have variable oxidation states? pakmty.org

iv.  KMnOQ;, acts as oxidizing agent? Justify with two examples.

V. Write the chemistry of setting of cement in first twenty four hours.
vi.  Alkali metals give ionic hydrides. Give reason. |

vii.  Write the formula of (a) Asbestos (b) Halite
viii. ~ What is the excellent method to prepare Alkyl lodide?

ix.  What is terpolymer? Give one cxample.
X. What are the monosaccharides? Give one example.
xi.  Compare the compound protein with derived protein.
xii.  FHow Grignard reagent reacts with “HCHO”?
3. Write short answers to any EIGHT questions. ©<i® (2 x 8 =16)
i.  What is aqua regia? How does it dissolve gold? ébo
. NO, is oxidizing agent. Prove it with two s amples.
iii.  Arrange the oxidizing power of follo th reason: Fy, Cly , By, 5
iv.  Why I, is solid while F i1s gas?
V. Define functional group wi ﬁ@vo examples.
vi.  Differentiate betwee aimerism and position isomerism, with $uitable cxamples.
vii.  How oxalic aci cparcd from acctylenc?
vili.  Why ethyne is less reactive than cthene?
ix.  Why alkanes are called as paraffins?
X.  What are leachate?
xi.  Define Biochemical Oxygen demand.
xii.  What is lithosphere? '
4. Write short answers to any SIX questions. 2x6=12)
. How to prepare borax from coleminte?
ii.  Give two important uses of silicates.
iii.  What is white lead? Give 1ts usc.
iv.  Write IUPAC names of the following molecules
a) CH, b) OH
NO, NO,
NO, CH,
(Turn Over)
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Viii.

1X.

(a)

(b)

(b)
(a)

(b)

(b)

(a)
(b)

Gujranwala Board-2024

o

Ethyl alcohol is a liquid while methyl chloride is a gas, justify it. pPd kCity.Ol'g

Give the reaction of phenol with:

(a) Zn (b) HNO;3
How acetaldehyde reacts with the following rcagents?
(a) HCN (b) 1,/NaOll

What is vinegar and give its use?

Write down the mechanism of reaction betwecen acetic acid and methanol.

SECTION —11

What is hydration energy? Give one example. Discuss its variation in groups and periods (1+1+2=4)
of periodic table.

Write down any eight uses of lime in industry. (4)
Give the reactions of Bleaching powder with (4)
i,  dil HySO, ii. HCL
iii. NH; iv. m;
Describe the process of digestion of paper pulp i ral Sulphite chemical process. (4)
&
What arc organic compounds? [)cscribc@%awing terms (give one example for cach). (4)

i.  Alicyclic Compounds %S
ii.  Aromatic Compounds @
iii.  Heterocyclic Compo

Write down the chemi gion of Ethyl Magnesium Bromide with CO, , HCHO , (4)

Acetone and Epox}

Explain acidic nature of alkyne in detail by giving two examples. (4)

What is aldol condensation? Give its mechanism. (4)

Discuss catalytic oxidation of Benzene. (4)

How ethers are prepared from following? (4)
i.  Williamsons Synthesis i.  Ag.0O

317-1"A 424-30000
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CHEMISTRY Intcrmcdlatc Part-11, Class 12" (1*A 424-1V) Paper: II Group —1II
Time: 20 Minutes OBJECTIVE ..... Code: 8488 Marks: 17

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1.  Which one of the following compounds is most reactive?

(A) Benzene (B) Ethene @ (C) Ethane (D) Ethyne
2. Which one of the following is a non-typical transition element?
(A) Cr (B) Mn (C)Zn @ (D) Fe
3.  B-B’-dichloroethyl sulphide is commonly known as
(A) Laughing gas (B) Bio-gas (C) Phosgene gas (D) Mustard gas @
4.  Which three elements are needed for the healthy growth of plants?
(A)N,S,P (B)N,Ca,P (C)N,P . K@ (DN,K,C
5. The reaction between fat and NaOH 1s called
(A) Esterification (B) Hydrogenolysis (C) FFermentation (D) Saponification @
6.  Which compound is more soluble in water?
(A) C;HsOH @ (B) C¢HsOH (C) COCH; (D) n—hexanol
7.  Which one of the following ions has maximum v at of hydration?
(A) Na* (B) Cs™* % Bd2+ (D) Mg** @
8. Hydrogen bond is the strongest betwee@gﬁ cules of
(A) HF @ (B) HCI (C) HBr (D) HI
9. Tincal 1s a mineral of
(A) Al ( ) (C) Si (D) C

¢ atmosphere 1s expressed in units
(B) KJ/molc CyPRU @ (D) N

10. The amount of Ozo
(A) KJ

1.  The solution of'which acid is used for scasoning of food?

(A) Formic acid (B) Acetic acid @ (C) Benzoic acid (D) Butanoic acid
2. The state of hybridization of Carbon atom 1n Methane 1s :
(A) sp’ (B) sp” (C) sp (D) dsp
13.  Peroxyacetyl nitrate (PAN) is an irritant to human beings and it affects
(A) Eyes @ (B) Ears (C) Stomach (D) Nose
14.  Choose the gas which is obtained by the reaction of Ethyl alcohol with conc. H,SO4
(A) CO (B) CO, (C) C;H; (D) C,H,®
15.  Select the two normal elements present in sixth period
(A)K , Ca (B) Rb, Sr (C)Cs,Ba@® (D) La, Hf
16. Cannizzaro’s reaction is not given by
(A) Formaldehyde (B) Acctaldchydc @
(C) Benzaldehyde (D) Trimethylacetaldehydce
17.  When water (H — OH) is made to react with Ethyl Magnesium Bromide, the product formed is
(A) CH; = CH; (B) HC = CH (C)CH3;—-CH; @ (D) CH4

318-(IV)- 1%A 424-30000

Please visit for more data at: www.pakcity.org



Gujranwala Board-2024

CHEMISTRY Intermediate Part-II , Class 12" (1A 424 ) Paper: 11 Group - Il
Time: 2:40 Hours SUBJECTIVE Marks: 68

Note: Section I is compulsory. Attempt any THREE (3) questions from Section I1.

SECTION -1
2. Write short answers to any EIGHT questions. (2 x 8=16)

1 Why diamond is non-conductor and graphite is fairly a good conductor” @ pak C|ty. org 9
1. Write the names of families in periodic table.

. Why ‘d’ and ‘f* block elements are called transition elements?

V. How KMnO, and K>Cr,O- react with H,S?

v.  Write the chemistry of setting of cement in between 1 — 7 days.
vi.  Justify that BeO is amphoteric in nature.

vii.  What will happen when Magnesium reacts with (i) Hy (ii) N>
vill.  Starting from primary alkyl halide, prepare ethyl alcohol.

iX.  What is degree of polymerization?

X, What are the oligosaccharides? Give one exampie.
xi.  What do you mean by denaturation of protein?
xil.  How does Grignard reagent react with CQ5? @@
3. Write short answers to any EIGHT questions. O© (2x8=16)
1. Write down the structures of N,O; and NO» < %&3
ii.  Why the elements of group VI A oth xygen show more than two oxidation states?
i1, Write down any four uses of ble powder.

iv.  Define disproportionation reaction’with an example.

V. Define sp hybridizatj ith an example.

vi.  How wood is ¢ ed into coal? Give its equation 100.
vii.  What is Wolf—Kishner’s reduction? Give reaction.
viii.  How is PC{5 produced from SOC/,?

ix.  How chloroprene is prepared from acetylene? Give reaction, also.

X. How aeration is used for purification of H,O?
xi.  What is acid rain? How does it affect on aquatic life?
xii.  How smog is produced? Write down its conditions of formation.
4. Write short answers to any SIX questions. 2x6=12)

L. What is the action of an aqucous solution of borax on litmus?
it.  Give any two uses of boric acid.

iii.  How and under what conditions does Aluminium react with the following :
(a) Halogens (b) Alkalies

iv.  What is meant by the terms : (a) Nitration  (b) I1alogenation

V. Why Ethanol has higher boiling point than diethyl ether?

(Turn Over)
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(a)
(b)

(a)
(b)
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How will you distinguish between methanol and ethanol? C’é pa kcity.org
Give the mechanism of addition of HCN to acetone.

How to prepare acetic acid from cthync?

What are zwitter ions?

SECTION —1I

What are hydrides? Explain types of hydrides with their properties. (4)
What is the role of lime in agriculture and ceramic industries? (4)
Write down any eight applications of noble gases in daily life. (4)
What is significance of potassium fertilizers in plant growth? Explain the manufacturing (4)
of KNOs on industrial scale.
Explain any four types of structural isomerism by giving one nple of each. (4)
What are alkyl halides? How are the alkyl halides prepab alcohol by three (4)
different reactions? O
@

Write a note on photochemical halogenation %ﬁw. (4)
Describe the Reduction reactions of C Compounds with following reagents: (4)

i,  NaBH,/H;0" @ ii.  Ni/H,
(Give two reactions for each) ~{\ O
What is Kekule’s Str f Benzene? How did he support his theory? (1+3=4)

How.will you prepare phenol from the following?

.  Chlorobenzene
ii.  Sodium salt of Benzene Sulphonic Acid

318-1%'A 424-30000
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) (Academic Sessions 2020 — 2022 to 2022 — 2024 )
CHEMISTRY 224-1% Annual-(INTER PART - II) Time Allowed : 20 Minutes
Q.PAPER —II ( Objective Type ) GROUP -1 Maximum Marks : 17

PAPER CODE = 8487

Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

1-1 | Which of these polymers is an addition polymer :

(A) Nylon-6,6 (B) Polystyrene (C) Terylene (D) Epoxy resin
Preparation of vegetable ghee involves :

@
(A) Halogenation  (B) Dehydrogenation (C) Hydroxylation (D) Hydrogenation
3 One of the following hydrogen halide is the weakest acid in solution :

(A) HI (B) HBr (C) HCY (D) HF @
Which compound shows hydrogen bonding : '

(A) C,H, (B) C,HC? (C) CHy;~CH,—CH; (D)® C,H;OH
5 | One of the following acid can be used as a catalyst in Friedel-Crafts reéctions. ;

(A) AiC{; @ (B) HNO; (C) Be(CY, (D) H,SO,
Down’s cell 1s used to prepare :

(A) Sodium carbonate  (B) Sodium bicarbonate

(C) Sodium metal @ (D) Sodium hydroxide <\

-

Newspaper can be recycled again and again by

(A) 2 (B) 3 ~A A8
Co-ordination number of Pt in [ Pt C(NH3)4] 1S

(A) 6 ® (B) 4 \L ©) 1 D) 2-

Acetic acid 1s manufactured b

(A) Distillation ) 0n01y31s (C) Fermentation ® (D) Esterification
Select the two norme 3‘5 wents which are present in fourth period

(C) Cs, Ba
N\ PN

When ethylene epoxide (CH, —CH,) is made to react with ethyl magnesium bromide

followed by acid hydrolysis the product formed is :

(A) 1-propanol (B) 2-propanol (C) 1-butanol @ (D) 2-butanol
12 | One of the following metal used in the thermite process because of its reactivity :

(A) Iron (B) Copper (C) Aluminium @ (D) Zinc
13 | Which woody raw material 1s used for the manufacture of paper pulp :

(A) Cotton (B) Bagasse | (C) Poplar @ (D) Rice straw

Cannizzaro’s reaction 1s not given by :
(A) Formaldehyde (B) Acetaldehyde @

(C) Benzaldehyde (D) Trimethylacetaldehyde
15 | The formation of chloramines prevented in ---- pH :

o
N

(A) Acidic B) Alkaline @ (C) Neutral (D) Low
16 | Select from the following one which is alcohol : A
(A) CHy-O-CHy,  (B) CH;~CH,~OH® o%pakcnty.org%o

(C) CH;COOH (D) CH;-CH, - Br
17 | Choose the gas which is obtained by the reaction of phosphorus with thionyl chloride :
(A) SO, @ (B) PH3 (C.) C02 (D) C,H,

Please visit for more dat3l24lu(Qbisetiveilypgyy 13000 (8487)
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CHEMISTRY 224-1% Annual-(INTER PART - II) Time Allowed : 2.40 hours

PAPER - I ( Essay Type ) GROUP -1 Maximum Marks : 68
SECTION -1

2. Write short answers to any EIGHT (8) questions : 16

(i) Why the second value of electron affinity of an element is usually shown with
a positive sign? Give example.

(11) Prove that ZnO 1s an amphoteric oxide.
(1) Write dewn the chemical formula of dolomite and asbestos.
(1v) What 1s milk of magnesia and where i1t 1s used?
(v) What is anode coating?
(vi) Why does the compounds of transition elements are coloured?
(vi1) Define nucleophile with two examples.
(viii) Which is the best method for the preparation of alkyl halide? Give reaction.
(ix) Define saponification number with an example.
(x) Write down the structures of acrylic acid and acrylonitrile.
(x1) Dafferentiate between copolymer and terpolymer. G@mples.
(xi1) Why nitrogenous fertilizers are supplied to plants? '
3. Write short answers to any EIGHT (8) ques&i@O 16
(1) What is the effect of temperature on N @%

(1) How does HNO; react with Cu 'l

antiseptic?

(1i1) Why 1odine has metallic Iy

(1iv) Which halogen 1s us
(vV Explain the typ onds and shape of HCHO molecule using hybridization approach.

(vi) Write the structural formulas of the possible 1somers of CyH .

(vit) How 2-Butene will react with following reagents :
(a) O, inthe presence of Ag  (b) Bryin CCly

(vii1) What is Raney Nickel and give its use?
(1x) How to test the unsaturation of alkenes? Give reaction.

(x) What are secondary pollutants?

(x1) What is meant by term BOD and COD?

(xi1) How does ozone help to protect us?

4. Write short answers to any SIX (6) questions : 12
(1) What are different types of boric acid? Give their names.

(i1) What are products formed when aluminium reacts with HC{ and H,SO,?
(111) Give four common properties of group IVA elements.

(iv) How is ethyl benzene prepared through Wurtz fitting reaction? pa kCity.Ol'g

(v) How are ethyl chloride and ethyl amine prepared from ethanol?
(Turn Over)
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(2) _
4. (vi) How will you convert ethanol into ethanal? %ﬁcity.org

(vii) Give four uses of acetaldehyde.

(viii) What is Ninhydrin test? Which compounds are detected through this test?

(ix) How would you carry out the following conversions :
(a) Acetic acid into acetamide.  (b) Acetic acid into acetone.

SECTION -11
Note : Attempt any THREE questions.

5. (a) Discuss variation of melting and boiling points of elements across the short periods of
periodic table.

(b) Give any four points to elaborate the peculiar behaviour of beryllium.
6. (a) How does fluorine differ from its own family members?

(b) What is setting of cement? Discuss the reactions taking place in first 24 hours in
setting of cement.

7. (a) Define hybridization and describe sp-hybridization of ne.
(b) Write a note on Beta-Elimination Reactions of al@% G

8. (a) How does ethyne reacts with : . @O
(1) Halogen acid %

(i1) Strong alkaline KMnQOy.

acs.

(b) Explain haloform re y giving four reaction of halogen with :

OH
j
(i) CH,CHO™ (i) CH,COCH; (iiiy CH;-CH-CH; (iv) CH;CH,OH

9. (a) Give two reactions in which benzene behave as saturated compounds and two in
which benzene behave as unsaturated compound.

(b) How will you prepare bakelite and picric acid from phenols.

191-224-1-(Essay Type)-52000
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

Ethers show the phenomenon of
(A) Position isomerism (B) Functional group 1somerlsm
. pakcnty org
(C) Meta merism @ . (D) Cis trans 1somerism ‘

2 Molecular formula of white phosphorus is :

A I @ (B) R C) A (D) A
3 Which of the following reagents will react with both aldehydes and ketones
(A) Grignard reagent @

(B) Tollen’s reagent

(C) Fehling reagent (D) Benedicts reagent
4 | Which three elements are needed for the healthy growth of plants
(A) N,5, P (B) N,Ca,P (€©) NP, K @® (D) N, K,C
> | The mineral (CaSO,.2H,0) has a general name
B) Dolomite (C) Calcite (D) Epsom salt
A smgle chloride free radical can destroy how many 1¢ molecules :
(A) 100 (B) 100000 @ 0000 (D) 10
7 | Hydrogen bond is strongest between the Q-g es of
(A) HF @ (B) HC{ % (©) HBr D) HI

Which compound is responmble w‘v one depletlon ; |
(A) CHC, (B cyz L (@© crc @ (D) cce,

Which one of the nitro g_ & .ﬁ-‘ is not present in RNA :
(A) Cytocine B) Adenine (C) Thiamine @ (D) Uracil

10 | Benzene cgo ; 1001
(A) Substitution reaction (B) : Addition reaction

(C) Oxidation reaction (D) 'E}iﬁﬁinafié)n reaction @

The chief ore of aluminum is : o

(A) Na,AlFg (B) A44,0;5. 2H20 @ (C) AL,04 (D) A44,0;.H,0
12| Which of the following has maximum hydration energy :

(A) Lit (B) Na* (C) K* (D) Mg*™ @

13 | Ether Iirlﬂ(age 1S l ® ' I
| | l {
(A) —-('Z—Nl—-(li— (B) —-C—O——({— (C) -C-S-C- (D) ——CﬂN—(II——

; |

The order of a typical S, 2 reaction is :

(A) Zero (B) First (C) Second @ D) Third

(B) CH,;OH (C) C,HsOH
The solution of which acid is used for seasoning of food :
(A) Formic acid (B) Acetic acid (C) Benzoic acid (D) Butanoic acid

228-224-11-(Objective Type)- 5500 (8484)
Please visit for more data at: www.pakcity.org
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) Lﬂahore Board'2024 _ ( To be tilled in by the candidate)
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224-1% Annual-(INTER PART - 1I)
GROUP -1

SECTION -1

2. Write short answers to any EIGHT (8) questions :

(1)
(11)
(iii)
(iv)

16
Why size of cation 1s smaller than its parent atom? Give example also. o@ pak city.org %
Why diamond 1s a non-conductor while graphite is conductor? -

What 1s lime mortar?

Write down the chemical formula ot Sylvite and Natron.

Find the value of “x* in the complex of Fe (Il), [ Fe (CN), 1.
Under what conditions does Af corrode?

Why R-I 1s more reactive than R-F?

Define leaving group with two examples.

Ditterentiate between homopolymer and terpolymer. Give examples.
Write down the structures of epichlorohydrin and diphenylol propane.

Write down any two characteristics of lipids. @
Write any four essential qualities of a good fer’[iliz@<i

3. Write short answers to any EIGHT (8) queq&i@o

(1)

(v1)
(vi1)

(vill)

(1x)

(X)
(x1)
(x11)

Why does aqua regia dissolve platinum@%
How does NO, act as an oxidizi 3&"} ?
Why HF 1s weaker acid t é@r

antiseptic?

Which halogen is us
agent and give its disadvantage?
What 1s tautomerism? Give example.

How to prepare formaldehyde from ethene?

How does propyne react with : (a) 10% H,SOj in the presence of HgSO,
(b) Alkaline KMnOy

How to prepared alkane from carbonyl compounds?

How does acid rain affect our environment?

How is ozone layer depleted by CFC{;?

What are the harmful effects of chlorination of H,O?

4. Write short answers to any SIX (6) questions :

(1)
(11)
(111)
(1v)
(v)

Give four uses of aluminium.

What 1s meant by the term “ inert pair”? Give brief description.

What 1s water glass? How is it prepared from sodium carbonate?
What happens when benzene is heated with conc. H,SOq at 250 °C 9
Why 1s the boiling point of ethanol higher than that of diethyl ether?

(Turn Over)
Please visit for more data at: www.pakcity.org
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(2) .
4. (v1) Write structural formulas of acetophenone and picric acid. % pakcity.org %

(vi1) How is acetaldehyde prepared from ethylene and acetone from calcium acetate?

(viil) How is acetic acid prepared from ethanol?
(1x) What is the difference between acidic and basic amino acids? Give examples.

SECTION - 11
Note : Attempt any THREE questions.

5. (a) Mention four improvements made in Mendeleev’s periodic table by Moseley. =
(b) Describe the commercial preparation of sodium by Down’s cell. 4
6. (a) Describe relative reactivities of the halogens as oxidizing agents. -k
(b) Describe phosphatic fertilizers and potassium fert111 -+
7. (a) Explain geometric isomerism with sultable {%Q@ and also give necessary
condition for compound to show geomet erism. 4
(b) Give four equations with condition fi reparation of alkyl halides from alcohols. 4
8. (a) Daiscuss catalytic oxidation of m@& 4
(b) Describe the reaction of e and acetone with following : 2,2
(1) Hydroxyl amine. ) Phenyl hydrazine
9. (a) Write down any actions in which benzene behaves as if it is a saturated
hydrocarbon o reactions in which it behaves as if it is unsaturated. 2.2
(b) How will you prepare (i) Bakelite (ii) Phenyl acetate from phenol. 2.4

228-224-11-(Essay Type)-22000
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2024 (1°A)

INTERMEDIATE PART-II (12" Class)

GROUP-I

| LLOWED: 20 Minutes . OBJECTIVE | MAXIMUM MARKS: 17

[ -

S.# |

~_QUESTIONS

Formula of chloroform is:

Z

| Benzene cannot undergo reaction

;;akcity.org

N S

Roll No:

ﬂ

—

|

S

You have four choices for each objective type question as A, B, C and D. The choice which you think you think
| is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

A B | C D !
CH,CE CCE, CH,CEL, CHC!, @
Elimination | Addition | Oxidation Substitution ‘

lik
| _ ,, -
3 ‘Vhich of given is electrophile? Ct, ﬂ
4 | Which compound shows strong C,H,OH
ing?
hydljogen bonding’ _ o | —_!

5 | Which of the given compound will

react with Tollen’s reagent? | |
CH,-C-0OH CH,-O-CH
1 N

6 | Which of given is not fatty acid? Propanoic acid Butanoic acid

7 | Which of these polymers is Polye Cellulose
synthetic polymer? |

8 Temperature of decompositign
zone during manufacturing of 1000°C 1200°C
| cement goes upto:
I a | s s . .
9 | To avoid the formation of toxic
‘4 compounds with chlorine which Alums 0,
substance is used for disinfecting
| water? b
In water the concentratior 4 — 8 ppm 8 - 12 ppm
-dissolved O, sho @ oo
| 11 | Which statement is con'ect? ; 3 ,fxtbm is atom is F atom is F atom is
| L smaller than er than smaller than larger than F'~
atom F- @ |

12 | Chile saltpetre has > Na,B,0, | Na,CO,.H,0
formula: _

13 5’_ ’longs to group Sodium  Lead ® | Oxygen |

'ldIC table? |

14 ‘ ens | Chalogens Chalite Halite

lled:

15 | An element having hi ‘” nize Halogen Noble gas Transition
energy and tends to be chen element
inactive is: o

—_— - — - b E—

16 | Which is the correct formula of [PtC{(NO,) [Pt(NO,)C? ‘ [Pt(NH,), [Pt(NH,),
Tetraammine Chloro-nitro-

Platinum(IV) sulphate? (NH,), ]SO". (NH3)4150, | CUNO,)ISO, | (NO,)CEISO,

17 | A double bond consists of: Two sigma Two Pibonds | Onesigmaand | One sigma and

bonds one Pibondg | two Pibonds

ﬂ23(0bj)(ﬁ(f?)—2024(1"-A)-l9000 (MULTAN)
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INTERMEDIATE PART-II (12% Class) | 2024 1*-A Roll No:
CHEMISTRY PAPER-II GROUP-I

TIME ALLOWED: 2.40 Hours SUBJECTIVE _ MAXIMUM MARKS: 68
NOTE: Write same question number and its parts number on answer book, as given in the question Eper
SECTION-I

8x2=16

with an exam le.

m Write down any two dlssumlantles of derogen with group 1-A elements.
| (iii) | How is gypsum converted into Plaster of Paris? _ L -

Write down the formulas of (i) Dolomite (i) Halite _ | ]

L (V) | How chromate ions are converted into dichromate ions? L
| (vi) | Why does damaged tin plated iron get rusted quickly? | ~
| (vii) | Elaborate the mechanism of S 2 reactions. _ 1
| (viii) | Define nucleophile with an example ' ) . - ) 4
(ix) | Draw the structure of cholesterol. * B _
x) | How vinyl acetate converted into Eolﬂmxl acetate.
| (xi) | Write down the name of any four classes of enzymes. _ N
 (xii) | Mention the role of Phosphorus in ear ly growth of plant. _ N L |
3. Attempt any ei; ht parts. i B 8 Xx2= 16J_T
(1) l How alkene is converted into epoxide? What is its application?
i e PR o T ————h e —— =
(i) | Prepare the cyclic polymer of ethyne. |
[ (iii) | How good quality polythene is obtained from ethene? ) - |
(1v) | How does H,PO, act as a reducing agents? ) _ 1
} : — —
(V) | Give four uses of H,SO, |
" (vi) | Write the names and examples of two compounds containing carbonyl functional group. |
(vii) | Name two types of the isomerism shown by alkene with exam 6% ) - -
F (viii) | Justify that bleaching powder is oxidizing agent. o
(ix) | What are Freon and Teflon? O ) - )
(x) | What chemical reaction takes place in stratos th ozone? o
- l e — - . L VY S ey Gy — !
{ (x1) | What is Smog? Give its types? ——@ |
F'- (xii) ' What are leachates? @ -
4. Attempt any six parts. ...Y - | -
| () | Why CO, is gas while S; .4‘! olid?
i) | Write down any twomsss of AL, - =2 |
.. . i— o L NEA R T =L — e {
(iii) | What is the che of borax bead test? 2
l (iv) | Define resonance. Write down Kekule's structures of benzene. T 140.5+0.5=2 |
(v) | What is dérﬁﬂmrﬁgia} alcohol? N & 2
i (vi) | Why is Phenol acidic in nature? B Y | ) 2 ‘
(vii) | What is formalin? Give its two uses. o 1+0.5+0.5=2
| (viii) | Write down the structures of: (a) Malonic acid (b) Phthalic acid 1+1=2 —ﬂ
ix) | What is strecker synthesis? * _ - 2 |
SECTION-II o o |
NOTE: Attempt any three questions. - _ i 3 X8=24 |
5.(a) | Write down the point of similarities and difference of hydrogen with IA and IVA groups. 4 |
(any two of each)
(b) | Describe with diagram the manufacture of sodium by Down’s Cell. 4
6.(a) | Give any eight applications of Noble gases. ) - 4
(b) | How do Diammonium phosphate and Potassium nitrate prepared? Give their properties and uses. 4 J
r'i(a) | What is Cracking of petroleum? Discuss its three types. 1+3=4
(b) l Explain two main factors which govern the reactivity of alkyl halides. 4
H 8.(a) | Describe both Linear Polymenzatlon and Cyclic polymerization of Acetylen;: o ' 4
| by means of chemical reaction. L
(b) | Write a note on Aldol condensation reaction of carbonyl compounds with mechanism. 4
' 9.(a) | Describe structure of benzene on the basis of atomic orbital treatment. 4
(b) | How ethyl alcohol is prepared by the fermentation of: (i) Molasses  (il) Starch 4

——— .

23-204(1"-A)-19000 (MULTAN)
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2024 (1*-A)
INTERMEDIATE PART-II 12" Class

Paper Code :

| Number: 4484
CHEMISTRY PAPER-I1 GROUP-II
TIME ALLOWED: 20 Minutes

OBJECTIVE

QUESTIONS

e —

7 Boric acid cannot be used:

8 "An element that has a high

lonization energy and tends to be |
chemically inactive would most @
| likely to be:

9 | Formic acid on reaction w:t
dehydrating agent gwe

10 | The strength of bl t
| transition elements ¢ pends

e

.1__. e e

il g b N : ]

iRl [y ‘

1 . Y ._,". " -
[ - I..':ll [ s

11 | The state of hybridization o..,

*w 'rF 5»“3-?

12 HC CH-C=CH andconc

HC? on reaction give:

A Ty TP
by m ‘}#r‘p': ;-[—.-.-,F.'! T
i.i?u._amd"*- e '*: Ly éff:‘_‘-'-'-".; _

13 Amongst the fol{

| 14 | Which one is ¢ reactive alkyl
halide? W,

" - by
e e —
i?.* s ) o h

e e
15 | Methyl a alcohol is s . used;

L 5

o .r!. ‘""1_'.'."#" g M
-’s‘f i ,‘_- '."

é?’:? S &f"ﬁt
SR

16 | Acetone reacts with HCN to -
cyanohydrin, it is an example of:

Roll No:

MAXIMUM MARKS: 17

You have four choices for each objective tyf)?question as A, B, C and D. The choice which you think
is c6rrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

6 | Down’s cell is used to prepare: Sodium
carbonate

As antise th n

I | The fibre which is made from Acryllc fibre | Polyester fibre
acrylonitrile as monomer: W
2 | For which crop, ammonium nitrate Cotton Wheat Sugar cane | Paddy rice
fertilizer is not used? O N
3 | Which of foilovWﬁgis better to | Ct, I 0, 0, ® | KMnO,
Wl disinfect water? i
4 | The main pomtaﬁt of leather | -
| tanneries in the waste water is due | Lead Chromlum(VI) Copper Chromium(Iii)
to the salt of:
5 | Zn, Cd, Hg in Mendeleev’s Noble metals |~ Coinage metals \
| periodic table, were placed with: |

Sodium metal

N W 4:'.
L e

o i
A__'l_;_ '.'-'.
S W ] A

- % -

P A '1"' e .
e

'. addition

17 | Which acid is used inthe
manufacturing of synthetic fibre?

- T S, = R

—

— e

Formic acid

For enamels and
| glazes —i
m% 2 . _
ﬁ%?
”““‘i‘ SN
H An alkali A halogen
i g metal |
) o) - WC O, H,O CO and CO,
e @
N Number of | Number of
ai*,"r“*?*'i"ri*"*r '
"*”iﬁ ‘tinpaired neutrons protons
“electrons @
Sp dspz
Chloroprene | Divinyl acetylene
. !
Benzene Nitrobenzene Chlorobenzene l
R-Ct | R-Br |  R-1I -

1 i

As a substitute i As an anti- For denaturing of |

for petrol @ | freezing agent | ethyl alcohol |
Electrophilic | Nucleophilic Nucleophilic

L] . LI - » F
substitution addition@ |  substitution

Acetic acid
. 4
24(0bj)( W IC)-2024(1%-A)-20000 (MULTAN)

Oxalic acid Carbonic acid
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INTERMEDIATE PART-II (12" Class 2024 (1"-A Roll No:
CHEMISTRY PAPER-II GROUP-II B |

TIME ALLOWED: 2.40 Hours SUBJECTIVE | MAXIMUM MARKS: 68

NOTE: Write same question number and its parts number on answer book, as given in the c uestion paper.

3 SECTION—I | .
2. Attempt any eight parts. 8xX2=16

i Why are the ionic radii of negative ions larger than the snze of their parent atoms? Give example. —4’"“
ﬁ_ﬂi) _| Why does the oxidation state of noble gases usually zero?

(iii) | Give reactions of lithium with oxygen and carbon dioxide.

(1v) | What are the products formed when magnesium reacts with nitrogen and sulphur? - B |
v) | Why does damaged tin plated iron get rusted quickl

vi) | How does the process of galvamzmg protect from rustin ]

vii) | Give reaction of ethyl magnesium bromide with formaldehyde followed by acid hydrolysis. -

_Give reaction for the preparation of ethyl alcohol from ethyl bromide. Also mention reaction conditions. _'
.-i

|
T

_(ix) | Define lipids. Give difference between fats and oils. —
Briefly describe the term “Specificity” of enzyme. R
What is the difference between simple lipids and compound lipids?

Xii

Why are nitrogeneous fertilizers supphed to the plants or soil?
3. Attempt any eight parts. i

(1) | NO, is strong oxidizing agent. Prove the truth of this statement giving two examples.

(11) Complete and balance the given equations: (i) P+ NO— ? (i) ANO, +CO(NH 33:; ?
(iii) | Why HF is weaker acid than HC{?

(V)| How does iodine pentoxide (1,0;) react with H,0 and CO? | |
B e -

(v) | Whatis Catenation? _ —

vi) | What is Catalytic cracking?
vii) | Write down structural formulas of 1,3 - Butadlene and 2 — methxl - 2 — butene.

viii) | Differentiate between clemmensen and wolf-Kishner reduction givis chemical reactlons
| _(ix) | How would you prepare trans alkene from alkyne?
x) | What is ecosystem? )

xi) | How do oxides of sulphur adversely affect the environmeént?— -

l
xii) | How is value of COD determined? % &“ - _. |

4. Attempt any six parts. ,\" W ' 6x2=12
(i)
(i)

(i)

_(iv) What were objections to } @'3 s fonnula for Benzene?

(v) Eﬂ‘lYl alcohol is a lic ‘T;r“ ile methyl chloride is a gas. Why?

(vi) | Water has hlgh mg point than Ethanm

(vil) | How will yomeen Mm

(viii) { What happens when Sodium formate is heated with Soda llme?

| dix | What are Essential and Non-essential %
— sEcmonw

NOTE: Atte Attem t any three questions.

5.(a) | Discuss the improvements made in the Mendeleev’s Periodic Table and also
| discuss defects in the Mendeleev’s Periodic Table. |

8 X2=16

(b) | Explain commercial preparation of Sodium metal by Down’s cell and also 4 |
| give advantages of Down’s cell.
 6.(a) I How bleaching powder is prepared by Hasenclever’s method? 4 1
(b) | What is paper? Describe the process of dlgestlon in paper industry. 14+3=4
7_.(a) ' Define with example: | 1+1+1+1=4 |
| | (i) Tautomerism-  (ii) Metamerism (iii) Position isomerism (iv) Functlonal group isomerism |
(b) | What do you understand by the term Nucleophilic substitution? 14+-3=4
Explain S, 2 mechanism in detail.
8.(a) | Define Markownikov’s rule. Predict the structures of the alcohol obtained by the addition 4
of the acid to the given compounds: (i) Propene (ii) 1-Butene (iii) 2-Butene
(b) | How does acetaldehyde react with 4 |
(i) NaHSO,; (ii) Conc. NaOH (iii) HCN (iv) NH,OH
9.(a) | Define aromatic nitration along with example and its mechanism. 1+1+2=4 |
- (b) ' How ethanol is prepared from molasses and starch? 2+2=4

© 24-204(1"-A)-20000 (MULTAN)
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1. The geometry ef carbonium ion formed in SN' mechanism is:

(A) Tetrahedral (B) Square planar (C) Triangular planar@® (D) Hexagonal

2. Ethanol can be converted into enthanoic acid by:
(A) Hydrogenation (B) Hydration (C) Oxidation @ (D) Fermentation
3. Ketones are prepared by the oxidation of.
(A) Primary alcohol (B) Secondary alcohol@ (C) Tertiary aicohol (D) Long chain primary alcotiol

4. Which of the following derivatives cannot be prepared directly from acetic acid?

(A) Acetamide @  (B) Acetyl Chloride (C) Acetic Anhydride (D) Ethyl Acetate
5. Which one of the following elements is NOT present in all proteins?

(A) Carbon (8) Hydrogen (C) Nitrogen (D) Sulphur @
6. Which is NOT a calcareous material?

(A) Lime (B) Clay @ tﬁ;\ (D) Marine shel)
/. Peroxyacetyl nitrate (PAN) is an irritant to human beings and it affects:

(A) Eyes @ (B) Ears % (D) Nose
8. The main cause of reducing smog is combustion of.

(A) Oils (B) Coal . @ Natural gas (D) Gasoline
9. lonization energy of an atom does not depend o

(A)  Magnitude of nuclear charge e"of atom (C;\ _'Physical stat_e;“ . (D)  Shielding effect
10.  The-oxide of Beryllium is: ﬁ Y. |

(A) Acidic Basic (C) - Amphoteric®@ (D) Strongly acidic
11. The chief ore of Aluminium is: _

(A) Na,AlF, (B) Al,05.2H;0@  (C) Al, 05 (D) Al,05.H,0
12.  The oxidation of “NO" in air produces: |

(A) N, O (B) NO, @ (C) N, O, (D) N, O
13.  Hydrogen bond is the strongest between the molecules of:

(A) HF @ (B) HCl (C) HBr (D) HI
14.  Coordination number of [Pt(OH),(NH;),]S0, is:

(A) 1 (B) 111 (C) v (D) vi @
15.  The state of hybridization of carbon atom in ethane is:

(A) sP: @ (B) sp? (C) SP (D) dsp*
16.  Preparation of vegetable gnee involves:

(A) Halogenation (B) Hydrogenation ®  (C) Hydroxylation (D) Dehydrogenation
17.  Aromatic hydrocarbons are the derivatives of:

(A) Normal series of paraffins (B) Alkenes (C) Benzene @ (D) Cyclohyxane
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SECTION-
2 Write short answers of any eight parts from the following: (8x2::16)

. Define hydration energy. How does it vary from top {0 bottom in I — A and I — A groups?
i, Why do the fluorides show the highest melting and boiling points as compared to other halides? :’% pakc 'tﬂg_%”
i, What are the products formed when lithium and sodium nitrates are decomposed?
v. Whyis Mg(OH), sparingly soluble in water while Ba(OH ), most soluble?
v Whatis the difference between paramagnetic and diamagnetic substances? Give brief description.

vi. What is meant by co-ordination number and co-ordination sphere?

vi. How is ethane prepared from ethyl bromide?
vii. How CH, — CHO react with ethyl magnesium bromide followed by acid hydrolysis?

X. What is difference between Hydrolases and Lysases?

X. Why are lipids important? xi. How temperature and radiation affect the enzymes?
xii. What s an acid rain? Give brief description about its impact.on our environment.
3. Write short answers of any eight parts from the following: (8x2=16)

. Write down any four similarities between oxygen and sulphur.
i.  Give two methods of preparation of NO». i,
v. Give chemical reaction of NaOH and Cl; in hot state ( 0°C) .
v. What is modem definition of organic chemistry?. %}O Define functional group isomerism with one exarnple.
vii. Differentiate between saturated and un§aturated 3
viii. What s catalytic oxidation of CHy upto the formatioryof HCHO?

3 Freons and Teflons?

IX. The reaction of propene WIth HBr foll ownlkov é rule Justify the statement by giving reaction.
x. Define environmental pollutant O Xi Wnte down any two harmful effects of acid rain.
xi. How are leather tanneries \sible for pollution of water?
4,  Write short answ Fany six parts from the fotlowmg (6x2=12)
. What chemical garden? - , i. Write down four uses of Sodium Silicate.
li. Why is the aqueous solution of Borax alkalme n nature’? iv. Prepare Glyoxal from benzene.
v. How are ethers prepared by Wllllamson 3 synthesus’? vi. Why is phenol acidic in nature?
vii.  Give the reactions of Formaldehyde with: (I)I__{.,CN i) NH, — OH. vili. How is acetamide prepared from acetic acid?
x. Give the two reactions in which H-a_tbhtof carboxylic acid is involved.
SECTI!ON-II
Note Attempt any three questions. Each question carries equal marks: (8x3=24)
5.(a) Write a note on oxides as a periodic relationship in compounds. (4)
(b) Why Lithium shows pewuliar behaviour? Give its any seven differences from other alkall metals. (4)
6.(a) Give eight uses of Nobel gases. (b) Howis urea fertitizer is prepared in Pakistan? Describe the process in detail. (4+4)
7.{a) Discuss structure of methane on the basis of hybridization. (4)
(b) How Propyl Magnesium Bromide reacts with following? (i) CH;COCHj; (i) CO;. (2+2)
8.(a) How does ethyne react with (i) Hydrogen {ii) Halogen acid (iii) alkaline KMnO,  (iv) 10% H,50, + HgS0;. (1x4)
(b) How sodium bisulphite reacts with (i) Formaldehyde (ii) Acetone  Also write the general mechanism. (4)
9.(a) Define Friedel-Crafts acylation alongwith its example and mechanism. (4)
‘taw can you prepare the following from Phenol? (i) Benzene (ii) Cyclohexanol (iii) 2, 4, 6-tribromopheol (1x4)
-~ nhenoxide.
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1.1.  Whith one of the following is NOT present in all proteins? pd KC Ity org
(A) Carbon (B) Hydrogen (C) Nitrogen %Df Sulphur @
2. For which crop, Ammenium Nitrate fertilizer is NOT used?
(A) Cotton (B) Wheat (C) Sugarcane “D) Paddy rice @
3. PAN is an irritant to human beings and it affects:
YAy~ Eyes @ (B) Ears (C) Stomach (D) Nose
4. In purification of potable water, the coagulant used is:
(A) Nickel Sulphate (B) Copper Sulphate (C) Barium Sulphate (D) Aluminium Sulphate @
9, The correct statement is:
(A) Na* < Na @ ) Na*>Na (G) cl < Cl (D) cl = Cl
6. The oxide of Be is:
(A) Acidic (B) Basic (C). Amphoteric @ (D) ‘Neufral
7. The aluminium oxide is: <g
(A) Acidic (B) Amphoteric @ (C Basic (D) Neutral
8. The laughing gas is chemically: 0% Q\) .

(A NO (B) NG, (DY (© N, 0, (D) N,0®
9. Which halogen occurs naturally in a positive state? ==

(A) [, @ (B) O@ F, = | (C) .‘ ™\ Br, (D) Cl;

tion elements depends upon:

10.  The strength of binding energy

(A)  No. of electron ) No. of protons: _ (C)  No.ofneutrons (D) No. of unpaired electrons @

11, The chemist who synthiesized urea fromammonium Cyanate was:

(A) Berzelius (B) | Kolbe !G)/ Wholer @ (D) Lavoisier
12.  Synthetic rubber is made by polymerization of, - |
(A) Chioroform (B) Acetylene (C) Divinyl acetylene (D) Chloroprene @

13.  During nitration of benzene, the active nitrating agent is:

(A) NO, “B  No,® (O NO, (D) HNO,
14.  For which mechanisms, the first step involved is the same:

A) E, and E, (B) E, and SN, € SN andE, of E, and SN, @
15 Ethanol can be converted into ethanoic acid by:

(A)  Hydrogenaion  (B) Hydration (C) Oxidation @ DY Fermentation
16.  Ketones are prepared by the oxidation of: B

(A) - Primary aicohol By " Secondary aicoho!@® (C) Tertiary alcohol ”(6) Dimethyl ether
17.  Which of the following is not a fatty acid?

(A) Propanoic acid (B) Acetic acid (C) Phthalicacid® (D) Butanoic acid
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2. Wirite short answers of any eight parts from the following: (8x2=16)

.. What are polymeric hydrides? Give example. .  What are the oxidation states of group VII A, and VIII A?

. What happens when Lithium Hydroxide is heated tored hot?  iv.  Why is the aqueous solution of Na, C 0, alkaline in nature?

v. Why metal chelates are more stable than metal complexes? vi. How Potassium Permanganate oxidizes oxalic acid?
vii.  Give IUPAC names of following compounds: (i). (CH), CHBr (il CH,CL
vi. ' How is carboxylic acid prepared from carbon dioxide and Grignard’s reagent?

ix.  What are the reasons for rancidity of oils and fats? X.  Write. down any two functions of DNA.
Xi. Whatis the repeating unit of polystyrene and Teflon? . xii. ~What are fertilizers? Why do we need them?
3. Write short answers of any eight parts from the following: (8x2=16)

. Give ring test for the confirmation of the presence of nitrate ion in solution.
i.  P,0s is a powerful dehydrating agent. Prove it by-giving example.

iii.  Why HF is weaker acid than HCL? Justify. iv. What ér'e-dvispmpqr,tionation-reactions? Give example.
v.  Write short note on steam cracking. _}/L, . What @rocyglic co___r_npotmds? Give two examples.
vii.  Convert Methyl Magnesium Bromide into methane  viii. ~ Stéte arkownikov's rule, give an example.

x. Write a short note on acidity. of ethyne. ~  ) @Qw IS oil_s_pi'llage affecting the marine life?
xi.  Are detergents are threat to aquatic life? Justify. i< Menfion any two conditions which are required for the formation of smog.

_owing. (2:12)

4. Write short answers of any six parts from|

. What i’swater glass and how it Is prepa < i, Why aiUminium is used in making petrol and milk storage tanks?
. How is boric acid dehydrated stepwiSe %hen heated strongly? 3 |
v, Give two objections to Kekule’sformula of benzene. V. Why are lower alcohols readily soluble in water?

vi. How would you pfepa elite from phenol?  vii. Prepare acetaldehyde and acetone by dry distillation method.
vii.  Give two reactions of amino acids.  ix. Differentiate between complete reduction and partial reduction of acetic acid.

- SECTION-iI
Note Attempt any three questions. Each question carries equal marks: (8x3=24)
5.(a) Write down two simit'aﬂ;'ities and two dissimilarities of hydrogen with Group |A elements. (04)
(b) Give the four pdihts in which Beryllium differs from the other members of its own family. (04)
6.(a) Explain relative reactivities of the halogens as oxidizing agent. (04)
(b) Explain the process of setting of cement & give reactions taking place in first 24 hours and 1-7 days. (04)
7.(a) Discuss the structure of ethyne on the basis of hybridization. (04)
(b) Discuss two main factors which govern the reactivity of alkyl halides. (242=4)
8.(a) Explain free radical mechanism for the reaction of chlorine with methane in the presence of sunlight.  (04)
(b) How HCN reacts with (i) Formaldehyde (i) Acetone? Also write down the mechanism. (242=4)
9.(a) Predict the major products of bromination of the following compounds: (04)

(a) Toluene (b) Nitrobenzene (c) Phenol (d) Benzaldehyde

(b) What are the alcohols? Write the reaction of alcohols which show: (i) Oxidation (ii) Dehydration (jii) Substitution  (04)
632-12-A-
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Chemistry (Objective) Group -1 Paper (1I)
Time Allowed:- 20 minutes PAPER CODE 4481 Maximum Marks:- 17

Note:- You have fqur choices for each abjective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Writt PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) Classification of elements in the modern periodic table is based on
(A) Law of Triads (B) Law of octaves (C) Moseley law@ (D) Mendeleev’s
periodic law

2) Chile saltpetre has the chemical formula

(A) NaNO; @ (B) KNO;, (C) CaCOs (D) Nay;COs
3) Aluminium oxide is o

(A) Acidic Oxide (B) Basic Oxide (C) Amphoteric Oxide (D) Non of these
4) Aqua Regia can dissolve noble metals due to the formation of

(A) Nitrosyl chloride ® (B) Nascent Nitrogen (C) Nitric oxide (D) Nitrous Acid
5) Which halogen occurs naturally in a positive oxidation state

(A) Flourine (B) Chlorine (C) Bromine (D) Iodine ®
6) Group VI B of Transition elements contain

(A) Zn, Cd, Hg (B) Fe, Ru, Os (C) C , W@ (D) Mn, Te, Re

7) Select from the following the one which is alcohol
H3 - COOH (D) CH3 = CHz - Br

(A) CH; ~CH, - OH® (B) CH; - O — CH;

8) Preparation of vegetable ghee involves o

(A) Halogenation (B) Hydrogen (C) Hydroxylation (D) Dehydrogenation
9) Which compound is the most reactive ong

(A) Benzene (B) Ethéficy & % thy (D) Ethyne
10) Nucleophile is usually Sl W Kgh SR AN,

(A) Basic in character Acidic faShirR@r asic and (D) Basicand @

h positively charged Negatively charged

11) Which of the follow; pound is called Universal Solvant?

(A) H,O @ (B) CH3;0H (C) C,HsOH (D) CH; - O -CH;
12) Acetone react with HCN to form cyanohydrin. It is an example of

Electrophillic Electrophillic Nucleophillic Nucleophillic

(A) addition (8) substitution ©) addition @ (D) substitution
13) Which acid is used in manufacture of synthetic fiber

(A) Formic Acid (B) Acetic Acid @ (C) Oxalic Acid (D) Carbonic Acid
14) Which one of the following element is not present in all proteins.

(A) Carbon (B) Hydrogen (C) Nitrogen (D) Sulpher @
15) Micronutrient element are required in Quantity

(A) 4-40 gm (B)6-200gm @ (C) 6 -—200 kg (D) 4 -40 kg
16) The pH range of acid rain is

(A) 7-6.5 (B)6.5-6 (C)6-5.6 (D) lessthan 5 @
17) Which one of the following substance cause acid rain?

(A) SO, @ (B) Hydro carbons (C) Chioroflourocarbons (D) O3

1231 -- 1224 - 14000 (1)
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Chemistry (Subjective) (Group I) Paper (II)
Time Allowed: 2.40 hours Maximum Marks: 68
Section ~-===vvemmmaaeae |
2. Answer briefly any Eight parts from the followings:- 8 xX2=16
(i) Why 2" ionization energy is greater than 1% ionization energy?
(ii) Why is diamond non-conductor but graphite is conductor?
(iii) What is general trend for the solubility of sulphates of alkaline earth metals?
(iv) Why lime is added to acidic s0il?  (v) How does K»Cr,0; oxidize the H,S and FeSO4?
(vi) How zinc coating prevents iron from corrosion?
(vii) How antiknocking agents are prepared from alkyl halides? (viii) What is wurtz synthesis?
(ix) What is function of nucleic acid?  (x) How temperature affects the activity of enzymes?
(xi) How triglycerides are hydrolyzed? (xii) What is meant by dry cleaning in paper manufacturing?
3. Answer briefly any Eight parts from the followings:- 8 X2=16
(i) Why N,O is called laughing gas? (if) Write down any four uses of Nitric acid.
(itt) What are Freons and Teflon? (iv) Why HF is weaker acid than HCI? Justify.
(v)  Define aromatic compound by giving two examples. (vi) How vital theory was rejected?
(vii) Convert methane into methyl alcohol. (viii) Write down the industrial preparation of Ethyne.
(ix) Mention the four physical properties of Ethene. —
(x) Mention any two conditions which are required for the formation of smog. '
(xi) Write short note on chemical oxygen demand. (COIQ& ° D@ pa,k Clt@o
(xii) Is detergent are threat to aquatic life? Justify. @
4. Answer briefly any Six parts from the fo gs:- 6 x2=12
(i) Why are liquid silicones preferred over g organic lubricants?
(ii) What 1s the action of an aqueous selutioryof borax on litmus?
(i) How will you convert boric acirax and vice versa.
(tv) What is Wurtz-Fittig reactio&% (v) How bakelite is produced? Give reaction.
(vi) How methanol and etha e differentiated?
(viiy What is Tollen’s tes reaction.  (viii) How carboxylic acid is prepared from alkene?
(ix) Differentiate bet ssential and non-essential amino acids.
Section -----=memeeem 1
Note: Attempt any three questions. (8 X3 =24)
5. {(a) What are the improvements made in the Mendeleev’s periodic table?
(b) Describe the role of Gypsum in agriculture and industry. (Any four points of each)
6. (a) What happens when bleaching powder reacts with
(1) dil H2SO4 (ii) excess of conc. H,SO,  (iii) NH; (iv) CO,
(b) What 1s meant by setting of cement? What are the reactions taking place in first twenty four
hours and between one to seven days?
7. (a) Discuss sp” — hybridization with a suitable example.
(b) How would you prepare following compounds from Grignard reagent?
(1) 1-butanol (i1) 2-butanol (iii) Cyanogen chloride (iv) ethane
8. (a) How is ethene prepared by Kolbe’s electrolytic method. Give its mechanism also.
(b) Give the reactions of acetone with. (i) HCN (ii) NH,OH (iii) NH,NH, (iv) NaHSO;
9. (a) Describe oxidation reactions of Benzene and alkyl benzene.
(b) Explain the following terms

(1) Absolute alcohol (ii) Methylated spirit (iii) Rectified spirit (iv) Denaturing of alcohols
1232 -- 1224 -- 14000
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Chemistry (Objective) Group ~ 11 Paper (II)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1
1) Which of the following metal does not form ionic hydride.
(A) Ba (B) Mg @ (C) Ca (D) Sr
2) The mineral CaS04.2H;,0 has the general name.
(A) Gypsum @ (B) Dolomite (C) Calcite (D) Epsom salt
3) Which of the following element is not present abundantly in earth’s crust?
(A) Silicon (B) Aluminium (C) Sodium @ (D) Oxygen
4) Which catalyst is used in contact process
(A) Fe;0; (B) V:0s @ (C) SO; (D) Ag0
5) Which halogen will react spontaneously with Au to produce Au*™?
(A) Br; (B) F2 C) L (D) Cl, ®
6) The strength of binding energy of transition elements depends on
(A) Number of electron (B) Number of @ (C) ber of (D) Number of protons
pairs unpaired electrons <§1 rons
7) In t-butyl alcohol, the tertiary carbon is bonded to @

(A) Two hydrogen (B) Three hydrogen <>(C) One hydrogen (D) No hydrogen atom®
atoms @% atom

3) Synthetic rubber is made by polymeri \&0 of
(A) Chloroform (B) Acetyie

(C) Divinylacetylene (D) Ch_loroprene.

9) The electrophile in aromatic sulphot

(A) HSOq4 D(); (D) so;
10) Ethyl magnesium br react wifhl Waler tésr & & %

(A) Ethane ® (B) MEtH: (C) Propane (D) Butane
11) Rectified spirit contains alcohol about

(A) 80% (B) 85% (C) 90% (D) 95% @
12) The carbon atom of a carbonyl group is

(A) sp hybrid (B) sp” hybrid @ (C) sp’ hybrid (D) None of those
13) Which of the following is not a fatty acid?

(A) Propanoic Acid (B) Acetic Acid (C) Phthalic Acid @ (D) Butanoic Acid
14) The reaction between fat and NaOH is called

(A) esterification (B) Hydrogenolysis (C) Fermentation (D) Saponification @
15) Ammonium Nitrate fertilizer is not used for which crop.

(A) Cotton (B) Wheat (C) Sugar cane (D) Paddy rice ®
16) Ecosystem is a smaller unit of

(A) Lithosphere (B) Hydrosphere (C) Biosphere @ (D) Atmosphere
17) Which gas is not a pollutant

(A) SO, (B) CO (C) NO, (D) CO, ®
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1224 (Inter Part - 11) (Session 2020-22 to 2022-24)
Chemistry (Subjective) (Group II') Paper (II)
Time Allowed: 2.40 hours Maximum Marks: 68
Section -------==<=sesee- I
2. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) What improvements were made in Mendleev’s periodic table? —
(ii) The radius of Na is 157 pm while that of Na“ is 95 pm. Why? c@ pad kcﬁir‘g}

(iii) What happens when Lithium carbonate and Lithium nitrates are heated?
(iv) Why is calcium important for plant growth? (v) How does acidified KMnO4 Oxidize FeSO4 and oxalic acid?
(vi) Why do the transition element show variable valency?

(vii) Why alkyl lodides are the most reactive among alkyl halides?
(viii) What is leaving group. Give two examples. (ix) Write name of factors with affect the enzyme activity.

(x) What are the Differences between DNA and RNA? (xi) Define acid number and lodine number with example.
(xii) Why wet process is favourable for manufacturing of cement in Pakistan?

3. Answer briefly any Eight parts from the followings:- 8 x2=16
(i) NO; is a strong oxidizing agent. Prove the truth of this statement giving example.
(i) Write down any four uses of sulphuric acid. (iii) Why HF is weaker acid than HCL? Justify.
(iv) What are Freons and Teflon? (v) Draw the various isomer of Pentane (CsH,2)
(vi) Why there is no free rotation around a double bond and a free rotation around a single bond. Justify.

(vii) How does ethyne react with (a) Halogen acid (b) Ammonical cuprous chloride

(viii) Write short note on acidity of Ethyne. (ix) Write down any four uses of ethene.
(x) Mention any two conditions which are required for th tion of smog.
(xi) s detergents are threat to aquatic life? Justify. (xi e short note on dissolved oxygen (DO).

6 x2=12

(ii) Justify the acidic and basic character og '

(iii) Prepare borax from (a) Colemani IC acl
(iv) - How “Al” reacts with hydroge alogen? (v) Justify “CO,” is non polar in nature.
(vi) Write the name and struc o aromatic compounds containing two benzene rings.
i ' idicithan alcohol?  (viii) Ethanol has highest boiling point than di ethyl ether.
ion of aldehyde with (a) K2Cr,07/H2S04 (b) Tollen’s reagent
Section ~-----=-----~ 11

(ix) Write the oxidatio

Note: Attempt any three questions. (8 X3 =24)
5. (a) Define periodic table. What improvements are made in Mendeleev’s periodic table?

(b) How sodium metal is produced by Down’s cell. Sketch labelled Down'’s cell.
6. (a) What are “Disproportionation reactions”? Explain your answer with the reaction of chlorine

with hot and cold NaOH.
(b) What do you understand by the term “Setting of cement”? Also discuss the reactions taking

place in first 24 hours?
7. (a) What are the various sources of organic compounds? Give significance of Coal amongst these

sources.
(b) Using ethyl bromide as a starting material how would you prepare the following compounds?

(i) n-butane (ii) Ethyl alcohol (iii) Ethene (iv) Ethane
8. (a) Explain the following reactions. (i) Ozonolysis of ethene (ii) Oxidation of ethyne by KMnO4

(b) What is Cannizzaro’s reaction? Write down its mechanism.
9. (a) Describe the stability of Benzene molecule by estimating Heats of Hydrogenation.

(b) Explain the following terms using ethyl alcohol as an example.
(i) Oxidation (ii) Dehydration (iii) Esterification (iv) Ether formation

1234 -- 1224 -- 10000
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- Note: - You have four choices for each objective type questi

on as A, B, C and D. The choice which you think is correct; fill that circle in front of

that question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

S -

- _ SECTION-A | _ I

_Q.l‘ B uestions 1 A T—*‘“‘Br [ C D

1. |Ingroup V-Aelements, the most electronegative is: Ne | P i Sb Bi B
Z, 4‘_M_o§tofth.§ elf_ments ___o_f_g_roupIA_aEi . Crystal!oids“_* Metals @ | Metall_g_ids 1 Non metals 1
- pinaingagentls a"“"‘il o, | N | N @ | o
4. |Vinyl acetylene combines with HCI to form: | Poly acetylene Benzene Chloroprene @ | Divinyl acetylene
5. [Which is the strongest acid? HCIO HCIO, |  HCIOs |  HCI0: @ |

6. [Total number of transition elementsare: | 10 14 40 | 58 @

T |metanelss o SN 0 @ | » | @

| Q pe'}}gtc‘ii :{:ml’}t belongs to group IV A off Bariium ' 4ina ‘ Leaﬂd . | Oxygen_

I 9. Whichonebfmegivenisnotan_a_llialimetal? | Francium %-...q‘ Rubidium B Radium @
10. }Vegetable oil is: n-satt;gaige ayt?u_eg?eeds aocid sal:ur:?lnt:eedg1 fat_t)facid Lobtg_inedn_{?grr? E)Ianj:_g_
" l;g;vggé%h Crop, ammonium nitrate fertnzeris|  ons QB Wheat Sugarcane Paddy rice®

| 12. |Acetic acid is prépargd by: ] _~\Distillation - Fe_rmelitatit;ﬁ.ﬂ __(ﬂ)Z)Twa_s:ifi | Ester_i_fication
13. [Ketones are prepared by oxidation of: (/Sg@lﬁnary alcohol Secondaﬂlcohol Tertiary alcohol | ~ Ether
14. |Which compoundshowsthehydrogenbonding?{ ~ CaHs | CoHsCl | CHs-0-CHs C2Hs OH @ |
5. epiangoofacidrainls: (0~ | 7-65 | 65-6 | 6-56 | Lessthan5@]
16. ':eec' co-agulant %sedd_" " water 10| o) tic soda Lime water Alum @ Sodaash

_{precipitate suspenCe e . Kageof | Formationof |  Transion | Attackof
17. |During the S.1 reaction, thefaststepim«c:hfe:s_..Jw(:o-_\LaIeIrlt ond | carbocation |  state | nucleophile
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Note:. Sectnon B is compulsory. Attempt any 3 questions from Section C
SECTION-B
2.  Write short answers to any EIGHT parts. (8x2=16)

i. Why the size of an anion is greater than its parent atom? Give example also. p 3 k C Ity org
ii. The hydration energies of the ions are in the given order, prove it. Al*3>Mg'2 > NA™
jii. Why is potassium superoxide used in breathing equipments?

iv. How is gypsum converted into Plaster of Paris?
v. Write down the systematic names of the given: a) [Fe (CO)s]. b) Kz[ PtCls].

vi. Write down the structure of Cr2072 andMnO) .

vii. Define B-elimination reactions with a suitable example.
viii. How anti-knocking agents are prepared from methyl and ethyl chloride?
ix. What is denaturation of proteins?
X. Define isoenzymes.
xi. Differentiate between thermosetting and thermoplastic polymer. Give example.
xii. What do you mean by “setting of cement?”

3.  Write short answers to any EIGHT parts. (8x2=16)

i. How PCls reacts with H20 and C2HsOH?

ii. Why does aqua regia dissolve gold?

iii. Why HF is weaker acid than HCI?

iv. What are Freons and Teflon?

v. Whatis “Octane number” and “knocking”?

vi. What s carbonization of coal? @
vii. Which rule is followed by alkenes to addition of H2S04 in I-Butene@@
viii. Prepare Cis and trans-butene from 2-butyne.

ix. Write down the IUPAC names of the given compounds @s)zCHz b) (CH3CH2CH2)sCH
X. Whatare leachates?

xi. What are the advantages of recycling of paper?ﬁ@ints)

xii. Whatis acid deposition?

Write short answers to any SIX parts,
(. Write down chemistry of borax b
ii. Why is nitric acid frequently
iil. CO2zis a gas while SiO2 i
iv. Whatis Wurtz-Fitting rea
v. What is denaturing of alcohols?
vi. What is Williamson's synthesis of ether?
vii. What is formalin? How is it prepared in laboratory?
viii. How is acetic acid prepared by hydrolysis of ester?
ix. Elaborate acidic and basic character of amino acids.

<> (6x2=12)

ed in aluminium containers?
. Give reason.

Note: Attempt any THREE questions. Each Question carrsIeE:?Eg:Tc(B) marks. (8x3=24)
5.(3) What are the improvements made in the Mendeleeve's periodic table? 4
(b) Describe with diagram, the manufacture of sodium by Down’s Cell method. 4
6.(a) Why Fluorine shows peculiar behaviour? (Any four reasons) 4
(b) Describe briefly the given steps during the preparation of paper: i-Cleaning ii-Screening 4
7.(a) Whatis orbitai hybridization? Explain sp3 hybridization with an example. 4
(b)  How does gthyl magnesium lodide react with: 4
i. CO2 ii. CHa-CHO iii. H0 iv. C2HsOH
8.(a) How will you prepare alkynes by Kolb’s electrolysis? 4
(b) How does acetaldehyde react with NaBHa4? Give mechanism of reaction. 1+3
9.(a) Write down a note on Atomic orbital treatment of benzene. 4
(b) Mention any two reactions of alcohol in which C - O bond is broken and any two reactions of alcohol in which O - H
bond is cleared. 2+2

Please visit for more data at: www.pakcity.org
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. R 1 SECTION-A - - .
Q1] ?uestions ’__' A | B | _ D .
I o et e of a double bond in a compound Is Saturation Unsaturation @ Substitution None of these
thesignof: ) _ . _ L ) e .
| 9 Ia)ueri;:ltgI ;itration of benzene, the reactive nitrating NOs NO: ® NO, HNO:
3 ldfaﬂ of"g fypical 5.2 reaction in case of primary| 4 T 2, e | 3 7ero
' |alkyl halide is: |
L e BB ¥ As an anti-freezing | As a substitutefor | For denaturing of
4. |Methyl alcohol is not used: - 1_3 As a solvent | agent C “petrol ethyl alcohol
Which of the given compounds will not give ) _
f. lodoform test on treatment with l2/NaOH? | Acetaldehyde , Acetone | Butanoni 3 peflt'ano'ne 0
| 6. |Acetic acid is manufactured by: | Distillation Fermentation® | _ Ozonolysis | Esterification
7. |Which of the given polymers is a gnthetigpo_i);‘m?ﬁ Animal fat Stach |  Cellulose | F?)Tgestegr.
e nitrogen present in some fertilizers helps To fight against ! i@ O unqaergo
8. [olants: | ; ﬂ diseases | 10 Pproduce fat | Toproduce prtltel.n.I photosynthesis |
9. |Ecosystem is a smaller unit of-------- ; Biosphere @ Atmosphere Lithosphere | Hydrosphere
he value of -—--- is a direct measure of - ’ | fthese
1*0. chemically oxidizable matter in water. 0 3 BQD J PO s
1 In t-butyl alcohol, the tertiary carbon is bonded tor 5 a 1 No @
N - hydrogen atom/s. - -t _(g% 1 I
e colour of transition metal complexes, is due| d-d transition o Mo : i _
12. Lo electrons @ @ ization Paramagnetic nature| Loss of S elfctrons
[3. [The anhydride of HCIOa is: ] Cl03 < Cl0z I Cl0s ChOr@
14 ,HNeobrown gas is formed, when metal reduces N N,Os NO, @ NO
"] 3t9: { _, #
15. |Boric Acid can not be used: A cinec | Forwashing eyes | In soda bottles @ For BEE'T:SIS and
16. ich of the given sulphates is not soluble in water? um sulphate |Potassium sulphate Zinc sulphate Bariu[n sulphate @,
17. INafoms —-—oxide: ] . — Basic @ | Amphoteric | Acidic | Super
O 312-424-1A-10000 * %



Chemistry l Group: 2™
Paper: I

Sahiwal Board-2024
HSSC(12")1*Annual 2024

Subjective

Time: 2:40 Hours

Roll No: (written by .

Note:

2.

Vi.
vii.
viil.
IX.

Xi.

’II

Xii.
4.

i
I,
V.

V.
Vi.

Vil.
viil.
IX.

Attempt any THREE questions. Each Question carries EIGHT (8) marks.

5. (a)

(b) Discuss the trends in chemical properties of alkaline earth metals (any four).

Section B is compulsory. Attempt any 3 questions from Section C.

Write short answers to any EIGHT parts.

SECTION-B

Why digdmond is a non conductor and graphite is a good conductor?

What is milk of magnesia and what is its use?

What is Gypsum and how is it converted into Plaster of Paris?
Why melting and boiling points are maximum in the middle of the series of d-block element?
What is the reason for the development of colours in the compound of transition elements?

How alkyl iodide is prepared from alcohol?

What are the factors which are responsible for the reactivity of alkyl halide?

What is degree of polymerization? Give one example.

Define Homopolymer and Copolymer, give example for each polymer also.

What are epoxy resins? Give their important uses.
Write down essential qualities of a good fertilizer.

. Write short answers to any EIGHT parts.

Draw structure of two oxyacids of nitrogen.

. The hydration energy of lons is in the given order, Al*3>Mg*2 >Na*1, give reason.

(8x2=

C’é palz::it—;/_.%%o

(8x2

Why does the phosphorous show more than one valency aithough it is not a transition element?
Who do the noble gases have low melting and boiling points?

Give two methods to prepare ClO-.
What is catalytic cracking? Give its importance.
What are Cis. and trans isomers? Give example.

Why is the boiling point of n-butane higher than that of isobuta<g

Why alkanes are less reactive than alkenes?

Give two methods to prepare alkanes from alkyl hali

What are secondary pollutants? Give example.

How are oxides of sulphur produced in eny; @‘
Define oxidizing and reducing smog. Q
Write short answers to any SIX pa
Write down any four uses of a .
What do you know about | garden?

How does borax serve as water softening agent?
Convert benzene into acetophenone.

Write down structural formulas for: (a) Glycol

ju

N

(&)

O

t? Give their harmful effects in human life.

(b) Carbolic Acid
How will you distinguish between methanol and ethanol?

Give one industrial method for the preparation of formaidehyde.
Write down a short note on acidic and basic characters of amino acid.

Convert methyl nitrile into Acetic Acid.

SECTION-C

(6x2 =

(8x3=:

Describe the defects in Mendeleev’s periodic table. Give two improvements made in it by Mosley.

6.(a) Write down any four differences of F2 with its group members.
(b) Define the term “setting of cement”. Write down the reactions involved in first 24 hours and 1-7 days.

7.(a) Whatis orbital hybridization? Explain sp2-hybridization in ethene.

(b) Differentiate between Sn1 and Sx2 reaction mechanisms.

8.(a) Write down any two methods for the preparation of alkanes.
(b) Give mechanism for acid catalysed nucleophilic addition reaction of ethanol and propanone with hydroxylamine.

9.(a) Whatis Friedel-crafts acylation? Write down its mechanism for the preparation of acetophenone.

(b) Discuss the commercial preparation of methyl alcohol from water gas in detail.
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